Svenska Bridgeférbundet
Simultantavling 2017-02-22

Partavling, 129 bord, 254 par. Antal brickor: 24. Medel: 2975.8. Frirond (*) ger egen procent.

Plac Par
1 S1
2 A6
3 P8
4 L8
5 M1
6 Q2
7 K4
8 E9
9 M18

10 A8
11 H9
12 L5
13 R6
14 N7
15 12
16 M10
17 C7
18 B9
19 D5
20 F10
21 N10
22 06
23 A7
24 Hi
25 D6
26 B7
27 J5
28 T7
29 Q14
30 L1
31 J2
32 E14
33 Al0
34 H3
35 E12
36 F5
37 01
38 Bl
39 C13
40 B16
41 C3
42 C2
43 M2
44 J1l
45 H12
46 B22
a7 T9
48 N3
49 B19
50 P1
51 M1l
52 A2
53 G5
54 L2
55 L10
56 R9
57 RI15
58 R11
58 Cl16
60 S3
61 Q7
62 02
63 N2
64 H10
65 010
65 R12
67 11
68 R5
69 17
70 B11
71 R18
72 P5
73 R8
74 08
75 L7
75 E8
77 Q10
77 B12
79 F2
79 M17
81 Q4
82 16
82 F8
84 14
85 K10

Poang

4200.0
4187.0
4179.0
4080.0
4030.0
3990.5
3940.6
3902.0
3815.0
3791.0
3785.0
3761.0
3746.0
3739.0
3730.0
3725.0
3705.0
3690.5
3670.0
3632.0
3628.0
3616.0
3607.0
3597.0
3592.0
3591.3
3585.1
3584.0
3578.0
3572.0
3568.0
3565.0
3554.0
3547.0
3539.0
3531.0
3527.0
3523.6
3517.0
3516.0
3483.0
3461.0
3432.0
3430.9
3419.0
3414.0
3375.0
3369.0
3357.0
3353.0
3339.0
3318.0
3305.0
3304.0
3279.0
3277.0
3273.0
3263.0
3263.0
3247.0
3246.5
3241.0
3230.0
3202.0
3193.0
3193.0
3192.0
3190.0
3189.0
3184.4
3182.0
3181.0
3175.0
3173.0
3170.0
3170.0
3169.1
3169.1
3169.0
3169.0
3162.5
3159.0
3159.0
3156.0
3149.7

%

70.56
70.35
70.21
68.55
67.71
67.05
66.21
65.56
64.10
63.69
63.59
63.19
62.94
62.82
62.67
62.58
62.25
62.01
61.66
61.02
60.95
60.75
60.60
60.43
60.35
60.34
60.23
60.22
60.11
60.01
59.95
59.90
59.71
59.59
59.46
59.32
59.26
59.20
59.09
59.07
58.52
58.15
57.66
57.64
57.44
57.36
56.70
56.60
56.40
56.33
56.10
55.75
55.53
5551
55.09
55.06
54.99
54.82
54.82
54.55
54.55
54.45
54.27
53.80
53.65
53.65
53.63
53.60
53.58
53.50
53.46
53.44
53.34
53.31
53.26
53.26
53.24
53.24
53.24
53.24
53.13
53.07
53.07
53.02
52.92

Namn

Christer Nordgvist - Lennart Karlsson
Joakim Nordlindh - Linnea Edlund
Jan Matsson - Kjell Staffas

Sune Bjorling - Anna Bjérling

Goran Strom - Per Norberg

Stefan Westlund - Anders Wike

Kjell Karlsson - Goran Larsson
Thomas Ekblom - Ola S6dergran
Emma Karlsson - Urban Nilsson
Ryszard Sliwinski - Ping Huang
Jorgen Steen - Goéte Nissinen

Eva Wilander - Rolf Larsson
Gert-Inge Hugosson - Kjell Glans
Simon Granath - Goran Gronvall
Mats Broberg - Kjell Nersveen

Berith Finnsson - Petter Bengtsson
Jan Nilsson - Per Andersson

Per Andreasson - Kurt Felldin

Orjan Jonsson - Antonella Pirrone
Lennart Lindgvist - Anders Brodin

UIf Hegethorn - Per Henriks

Stellan Karlsson - Per Tallstrom
Torkel Winbladh - Bo Loéwdahl

Joel Henriksson - Kjell-Ake Axelsson
Kjell Jénsson - Rune Carlstréom
Ulla-Britt Linnér - Aina Isaksson
Pierre Berg - Tord Sélvesson

Cecilia Martensson - Per Myrbeck
Rolf Scherdin - Christer Broberg
Anders Hansson - Erik Hansson
Harry Magnil - Jan-Henrik Rundh
Mickey Maretics - Anette Maretics
Claes Hallstrom - Borje Liljekvist
Sven-Eric Svensson - Ronny Johansson
Marianne Kruse - Katarina Wiklander
Per Schullstrom - Michael Karlin
Christer Nystrom - Robert Bohman
Sture Rundgren - Gabor Barath
Anders Hellstréom - Jan-Ake Edh
Ingvar Andersson - Stig-E Bengtsson
Per-Ingvar Skoglund - Vera Gemrud
Einar J6nsson - Per Eliasson

Anders Enstréom - Goran Nordberg
Anders Darle - Jan Lilja

Bengt Thuresson - Greger Alfonsson
Anna Bertland - Wera Rudhe

Willy Norlin - Nils Ingmar Thorell

Jan Glucksman - Roland Andersson
Arvid Ernér - Christel Malmberg
Anders Aslund - Sven-Ake Arvendahl
Lisa Bergqvist - Hakan Brostrom
Kerstin Bravo - Kaye Backman

Kjell Andersson - Stefan Andersson
Gunnar Bostrém - Maud Kylinger
Marie Cederkrok - Hakan Ohlsson
Kent Larsson - Marielle Dietrich

Alf Torméa - Goran Linder

Bodil Johansson - Kenneth Blomgren
Sven-Olof Onnesson - Britt-Mari Onneson
Sonja Proos - Anneli Stenberg

Lars Ericson - Bo Ericson

Leif Olofsson - Siv Stenmark

Johnny Pettersson - Inger Ekberg
UIf Hedvall - Ingemar Johansson
Jens Dahlberg - Robin Karlsson
Mats Goransson - Christer Tolergérd
Per Jansson - Anna-Karin Mattsson
Bengt Nordstrom - Erik Sved

Kerstin Tidlund - Marit Rangelind
Jon Jonsson - Sven Isaksson

Allan Johansson - Kerstin Eklund
Sune Good - Michael Malmén

Rolf Oskarsson - Ase Andreasson
Inga-Britt Seppéanen - Ann Lundmark
Siw Karlsson - Viveca Rappe

Janne Andersson - Hans-Erik Moberg
Ingrid Stolt - Hans Lindstrém

Bengt Goransson - Kjell Gustavsson
Jan Sundberg - Claes Scott

Lisbet Markgren - Lennart Markgren
Gert Engberg - Kjell Bjérklund
Torbjorn Johansson - Pia Andersson
Torbjérn Olsson - Christian Paulson
Jan Axelsson - Ann-Britt Tornkvist
Bdrje Magnusson - Karina Lindh

MID

6206
35307
1239
1444
5370
13174
4136
32214
58290
7639
14891
87253
88521
26207
11966
12506
11991
84676

9742
4462
82295
36348
56963

83816
3687
10652
3102
47032
10670
50249
40557
1158
38300
28089
15206
908
18600
22933
2734
2732
13338
3659
1155
86580
7155
12216
48954
7835
89691
39553
9540
46656
40103
7660
17389
89824
10902
18122
12536
48794
11666
29846
48791
24472
57189
36124
16036
59992
18392
235
46972
89248
1963
89969
31664
36408
10637
56510
50051
49897
12371
57188
17112

7084
34773
34308
50208
20066

2966

4115

9994
89351
38809
54063

1172
15295

3066
14986
11369
17111

912

88494

11230

15861
8390
3408

80052
47561
698
8172
53648
20253
24689
2874
969
92848
13772
17371
916
90770
22961
23764
2764
5369
83853
627
45927
35173
40196
48964
5396
12081
39554
15068
31298
14605
32683
7510
2942
45855
83306
2962
31714
5710
29909
42904
33024
57191
16
10123
80053
88887
87410
46973
35884
6842
90693
28580
88159
92794
56509
3139
46240
91339
31269
43674

Klubb

Svegs BK

Uppsalabridgen

Insjons BK - Réttviks BS
Motala Bridgeallians

Luled BK

Gévle BK

Lindesbergs BS - Kumla BS
Enkdpings BS

Luled BK

Uppsalabridgen

Emmaboda BK

Ljungsbro BK

Stenungsunds BK - Tjérns BK
Malmo BK

Finnskoga BS

Boden-Savast BS - Luled BK
BK Falkenberg - BK Albrekts
Vaxjobridgen

Amals BS

Malmé BK - Bridgeklubben 2 Kléver
Norsjo BK

Ej medlem - Backe BK

Emmaboda BK

Véaxjobridgen

Hagfors BK

Séllskapet, Ronneby

Géavle BK - Skutskérs BK
Gamleby BK

Hagfors BK

Enkdpings BS

Sigtuna BS - Uppsalabridgen
Vissefjarda BK - Emmaboda BK
Enkdpings BS - PRO Enkoping Bridge
Amals BS

Norsjo BK

Véaxjobridgen

BK Falkenberg

Vaxjobridgen

BK Allians, Halmstad

BK Falkenberg - Vessigebro BS
Luled BK

Hagfors BK

Vissefjarda BK - Emmaboda BK
Vaxjobridgen

Séllskapet, Ronneby

Malmé BK

Vaxjobridgen

Rattviks BS

Luled BK

Uppsalabridgen

Skellefted BK

Filbyter Bridge

Filbyter Bridge - Ljungsbro BK
Tjorns BK

Stenungsunds BK - Tjorns BK
Stenungsunds BK - Tjérns BK
BK Falkenberg

Svegs BK

Gavle BK

Norsjo BK

Malmé BK

Emmaboda BK

Norsjo BK

Stenungsunds BK

Finnskoga BS

Tjorns BK

Finnskoga BS

Ryds BK - Vaxjobridgen
Tjorns BK

Mora BK

Stenungsunds BK

Norsjo BK

Filbyter Bridge

Enkopings BS

Skutskars BK

Vaxjobridgen

Billeruds BK

Luled BK

Gévle BK

Finnskoga BS

Amaéls BS - Billeruds BK
Finnskoga BS

Jarnvagens BK
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115
116
117
118
119
120
121
122
122
124
125
126
127
128
129
130
131
132
133
134
135
136
137
138
139
140
141
142
143
144
145
145
147
147
149
150
151
152
153
154
155
156
157
158
158
160
161
162
163
164
165
166
167
168
169
170
171
172
172
172
172
176
177

3149.7
3149.0
3138.0
3138.0
3138.0
3133.0
3133.0
3120.0
3117.0
3116.0
3116.0
3102.5
3099.0
3093.0
3088.0
3082.0
3079.0
3077.0
3073.0
3069.0
3063.0
3048.0
3048.0
3041.0
3040.0
3040.0
3038.9
3035.4
3029.0
3027.0
3026.0
3024.0
3020.0
3018.0
3017.0
3013.0
3006.0
3006.0
3003.3
3001.0
2998.0
2984.0
2981.0
2978.0
2976.0
2970.0
2966.0
2957.0
2952.0
2948.0
2947.4
2945.0
2940.0
2939.0
2934.0
2933.0
2924.6
2923.0
2919.0
2917.0
2917.0
2891.0
2891.0
2885.0
2881.0
2873.0
2869.0
2860.0
2856.0
2855.0
2850.0
2849.0
2848.0
2848.0
2839.0
2813.0
2801.0
2788.0
2780.0
2771.0
2770.0
2768.7
2762.0
2758.0
2757.0
2748.0
2744.0
2744.0
2744.0
2744.0
2729.1
2723.4

52.92
52.91
52.72
52.72
52.72
52.64
52.64
52.42
52.37
52.35
52.35
52.13
52.07
51.97
51.88
51.78
51.73
51.70
51.63
51.56
51.46
51.21
51.21
51.09
51.08
51.08
51.06
51.00
50.89
50.86
50.84
50.81
50.74
50.71
50.69
50.62
50.50
50.50
50.46
50.42
50.37
50.13
50.08
50.03
50.00
49.90
49.83
49.68
49.60
49.53
49.52
49.48
49.40
49.38
49.29
49.28
49.14
49.11
49.04
49.01
49.01
48.57
48.57
48.47
48.40
48.27
48.20
48.05
47.98
47.97
47.88
47.87
47.85
47.85
47.70
47.26
47.06
46.84
46.71
46.56
46.54
46.52
46.40
46.34
46.32
46.17
46.10
46.10
46.10
46.10
45.85
45.76

Karl-Gustaf Larsson - Thorbjorn Fredriksson
Hans-Olov Stdliman - Sture Arnesson
Annika Hugosson - Teresa Torma
Bertil Holmqvist - Lage Boman

Joakim Ericson - Daniel Jonsson
Gunilla Wiklund - Ingemar Ahlgren
Florence Fridén - Birgitta Isacson
Hans Thorell - Christer Johansson
Ronny Gustavsson - Mats Modin
Bengt Ostman - Lasse Jonsson
Sven-Erik Emanuelsson - Mats Wiklund
Ménika Aberg - Suzanne Ingemansson
Gun Hammarstedt - Bernt Johansson
Jan-Anders Nilsson - Camilla Wernerson
Sonja Moller - Hakan Jarl

Lars Einarsson - Ann-Britt Gunnarsson
Stig Olsson - Pal Dahl

Hans Orr - Sven Helmersson

Anita Solin - Mariann Eriksson

Annika Krantz - Berit Gyllenswéard
Kalle Bergdahl - Stig-Ake Ifrig

Toni Sjo - Goran Fransson

Hans Kristenson - Lars Warberg
Christer Toreheim - Kent Persson
Torbjorn Utterstrom - Anders Burén
Marianne Olsson - Nils Holgersson
Hans Liljas - Trondur Baerentsen
Ingemar Borg - Bo Alsenmyr

Rolf Ohman - Inger Ohman

Anita Andersson - Ingela Nilsson
Bruno Karlstam - Tove Rangberg
June Sandberg - Jorgen Larsson

Leif-l Steen-Blacksta - Peder Carlsson
Inger Karlsson - Borje Karlsson

Hans Holmlund - Lars Markstrom
Sven-Erik Svensson - Margareta Svensson
Tommi Ramstedt - Erik Gulliksson
Bertil Nilson - Gunnar Krook

Ann Fagerberg - Lars Andersson
Karl-Erik Johansson - Britt Ahman
Elving Forsstrém - Stefan Persson
Kerstin Schenning - Lennart Schenning
Lillemor Zander - Séren Akerman

Stig Johansson - Christer Roos
Kristina Jénsson - Karina Andersson
Eva Karlstrom - Georgios Tzintzis
Aina Karlsson - Villy Karlsson

Jan Eriksson - Tomas Lindqvist
Marianne Liljenstrand - Agneta Troselius
Sven-Inge Sandell - Ove Gustafson
Anders van der Zwan - Martin Alm

Jan Nothwarp - Ake Nilsson

Bertil Hansson - Lone Stolt

Wilhelm Groth - Leif Lundberg

Jean Ericsson - Maud Lindblom

Sture Mattsson - Ragnar Jansson
Patrik Eklund - UIf Backman

Leif Engstrom - Margaretha Levin Blekastad
Kerstin Engquist - Inge Larsson

Doris Larsson - Sune Uusitalo

Annika Aslund - Anna Krésner

Bengt Lundberg - lvan Abrahamsson
Gunnel Oscarsson - Eva Lindgren
Peter Townsend - Tomas Lundberg
Rune Karlsson - Bernt Lundkvist

Hans Molin - N-G Nilsson

Olle Persson - Eva Lundgren

Gun-Britt Persson - Pelle Persson
Anna Hallberg - Lena Danielsson
Magnus Eriksson - Leif Elovsson
Goran Nilsson - Hans-Olof Holmqvist
Nils-Arne Karlsson - Ake Waldolf
Rune Gustavsson - Laila Gustavsson
Astor Grip - Randi Rosnas

Stellan Andersson - Janic Yap

Stefan Erlandsson - Sven Edlund
Anders Hammarstrom - Ulrika Eriksson
Lars Forsberg - Jan Lundberg

Bror Wahlberg - Anders Lindeberg
Hans Ohlsson - Rolf Claesson

Lars Hansson - Sten Hansson

Yvonne Berg - Annika Falkenstrém
Johan Lundsten - Ake Osterberg
Inga-Lill Nilsson - Kerstin Rénnquist
Bernt Ekholm - Mats Olsson

Gunnar Berg - Olle Wester

Rune Bjorkman - Elvy Bjérkman

Karin Fredman - Dennis Marklund
Cecilia Ericsson - lldiko Lang

Leif Holmgren - Lars Karlsson

Johan Karlsson - Benny Bjur

Yngve Sundell - Mats Nilsson

12299
55884
87574
10347
26279
41944
32680
22030
1159
78901
10424
526
19791
54224
87675
33860
41175
2792
86656
88743
56508
82613
93804
46238
9521
7152
9792
88523
4997
2991
14996
37801
88218
10753
15069

51783
81717
88969
9680
6208
82161
21772
78428
15266
80214

27765
38910
1429
225

6750
53856
80207

1503
40280
12293

53650
91289
7466
50490
27305
86593
20432
43665
86757
80476
12369
17206
34803
26540
6204
2726
30126
85774
8478

84257
10626
40017

5381
38
7505
92840
20732
12330
32229
39932

Nora BK - Orebridgen
Hagfors BK

Stenungsunds BK
Arjeplogs BS - Norsjo BK
Skutskéars BK

Rattviks BS

Tjorns BK

Séllskapet, Ronneby
Vissefjarda BK - Bridgeklubben Karlskrona
Svegs BK

Réttviks BS

Gavle BK - Skutskars BK
Véaxjobridgen

Séllskapet, Ronneby
Enkopings BS
Véaxjobridgen

BK Falkenberg
Uppsalabridgen

Rattviks BS

Véaxjobridgen

Luled BK

Véaxjobridgen

Sloinge BK - BK Falkenberg
Finnskoga BS

Skellefted BK

Séllskapet, Ronneby
Hagfors BK

Jarnvagens BK - Kumla BS
Ljungsbro BK

BK Falkenberg

Finnskoga BS

Hammar6 BK

Kumla BS - Jarnvéagens BK
Bridgekamraterna Nybro
Skellefted BK

Lindesbergs BS - Gavle BK
Hagfors BK

Skutskéars BK

Skellefted BK

Svegs BK

Enkopings BS

Enkdpings BS

Réttviks BS

Skutskéars BK

Enkdpings BS

Malmé BK

Luled BK

Filbyter Bridge - Ljungsbro BK
Jarnvéagens BK

Malmé BK

Luled BK

Enkdpings BS

Ljungsbro BK - Filbyter Bridge
Jarnvéagens BK
Uppsalabridgen

Luled BK
Véaxjobridgen

Tjorns BK
Vaxjobridgen
Boden-Savast BS
Véaxjobridgen
Skellefted BK
Séllskapet, Ronneby
Svegs BK

Améls BS

Malungs BK

Malmo BK
Sallskapet, Ronneby
Billeruds BK

Svegs BK

BK Falkenberg
Uppsalabridgen - PBF Uppsala
Amaéls BS

Luled BK

BK Falkenberg
Billeruds BK
Véaxjobridgen

PBF Uppsala - Uppsalabridgen
Réttviks BS

Tjorns BK

Enkdpings BS

Malmé BK

Bollnds BK - Skutskéars BK
Héllefors BK

Jarnvégens BK
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178
179
179
181
182
183
184
184
186
187
188
189
190
191
192
193
194
195
196
197
198
199
200
201
202
203
204
205
206
207
208
209
210
211
212
213
213
215
216
217
218
219
220
221
222
223
224
225
226
227
228
229
230
231
232
233
234
235
236
237
238
239
240
241
242
243
243
245
246
247
248
249
250
251
252
253
254

2723.0
2722.0
2722.0
2721.8
2719.6
2718.0
2717.0
2717.0
2710.0
2691.0
2683.6
2670.0
2666.0
2662.0
2657.0
2648.0
2636.0
2620.0
2599.0
2597.5
2595.0
2593.0
2591.0
2579.0
2575.0
2572.4
2571.0
2570.0
2562.5
2558.0
2550.0
2545.0
2541.0
2535.3
2532.0
2527.0
2527.0
2518.9
2511.0
2492.0
2480.0
2460.0
2459.0
2452.6
2446.0
2445.0
2438.2
2425.0
2410.0
2404.0
2401.0
2396.0
2390.9
2390.2
2378.0
2375.0
2355.0
2343.0
2340.0
2334.0
2324.0
2306.0
2305.0
2289.0
2261.0
2250.0
2250.0
2221.0
2199.0
2197.0
2142.9
2065.0
1995.0
1970.0
1921.0
1905.8
1574.0

45.75
45.73
45.73
45.73
45.69
45.67
45.65
45.65
45.53
45.21
45.09
44.86
44.79
44.72
44.64
44.49
44.29
44.02
43.67
43.64
43.60
43.57
43.53
43.33
43.26
43.22
43.20
43.18
43.05
42.98
42.84
42.76
42.69
42.60
42.54
42.46
42.46
42.32
42.19
41.87
41.67
41.33
41.31
41.21
41.10
41.08
40.96
40.74
40.49
40.39
40.34
40.26
40.17
40.16
39.95
39.90
39.57
39.36
39.31
39.21
39.05
38.74
38.73
38.46
37.99
37.80
37.80
37.32
36.95
36.91
36.00
34.69
33.52
33.10
32.27
32.02
26.44

Lars-O Carlsson - Birgitta Hansson
Yngve Jarl - Ingemar Martensson
Jorgen Eskilsson - Gunnel Hedstrom
Carola Vesterinen - Rune Pettersson
Anders Dahl - Lars Collskog

Gota Hakansson - Ulla-brith Johansson
Leif Grund - Lars Annemark

Olle Johansson - Leif Geremyr
Per-Ake Karlsson - Folke Flodén
Henrik Oldenburg - Fredrik Larsson
Rolf Moberg - Lennart Nilsson

Jan Janson - Ludvig Ericsson

Karin Samuelsson - Brita Lindner
Roland Stanggren - Bjérn Bjoérnlund
Sverker Skéld - Gunnar Andersson
Ingemar Sjoberg - Anders Svensson
Ronny Karlsson - Lennart Nilsson
Eva-Britt Blomkvist - Lars-Goran Blomkvist
Kent Derblom - Torsten Andersson
Eva Frankson - Bjorn Frankson

Olov Andersson - Marie Tonstrom
Gullan Runngren - Ragnhild Eriksson
Gull-Britt Sved - Marianne Axfjord
Kerstin Ahlgren - UIf Wilkenson
Carl-Uno Jansson - Kerstin Johansson

Marianne Melchior Ericson - Christina Moberg
Karen-Margrethe Johansen - Gunnar Johansen

Jane Girdo - Berth Rasmusson

Ingrid Svensson - Par Carlsson

Leif Petersson - Kurt Ottosson

Anders Hallén - Magnus Arwidsson
Ingemar Andersson - Barbro Andersson
Odd Nordanas - Christina Nordanas
Hasse Kjellman - Lena Levin

Jeanette Karlsson - Anne Alfredsson
Ingegerd Nordwall - Lise-Lotte Grape
Stefan Larsson - Ingrid Hasselgren
Sven Arne Persson - Gunilla Krook
Katarina Freitag - Nils Karlsson

Barbro Strom - Inger Lundstrém

Mira Yttermark - Helen Wallin

Christer Bergqvist - Lennart Magnusson
Margareta Karlsson - Tord Olsson
Anna-Lisa Andersson - Bengt G Mattsson
Margareta Linde’n - Erland Crénge
Solveig Tideman - Gun Claesson
Roland Apelgren - AnnChristin Apelgren
Lennart Laurin - Karin Laurin

Lillemor Swenson - Birgitta Karlsson
Erik Johansson - Hans Warell

Rogert Deiwall - Roger Pettersson
Ann-Katrin Johansson - Hermod Slettemo
Lilian Norberg - Roland Jager

Ulla Gustavsson - Gun Andersson
Ingvar Bergquist - Judit Stenberg

Rolf Johansson - Christer Israelsson
Kjell Janssion - Lennart Eriksson
Sven-Olof Johansson - Lars Lagerman
Ingvar H60k - Ann-Kristin Olofsson
Ann-Christin Séallstrom - Ann-Sofie Wibble
Rune Isaksson - Jan Johansson

Bengt Rickenstedt - Christer Thulin
Ylva Zackrisson - Barbro Mickols
Stefan Sundén - Erik Sondén

Agnetha Ohman - Hans Ohman
Lennart Myrenhill - Tommy Kont

Bo Malmgren - Ulla Malmgren

Bertil Andersson - Lars Olson

Christina Westberg - Hans Pudja

Sigge Lindfors - Hans Sandberg

Barbro Lutteman - Klas Lutteman
Roland Persson - Bo Sahlstrom
Bengt-Ake Carlsson - Birgitta Séderlund
Tom Borjeson - Bengt Bjork

Jan Tornegard - Ingemar Karlsson
Hans Sundell - Torsten Fagerlund

Arne Westerdahl - Evert Johansson

39470
94251
15590
31366
13441
55026
27849
30273
82297
9549
3276
37924
58810
41595
93912
88455
31547
9525
51487
92229
46612
41311
5115
19364
13802
17146
53592
94114
40035
24242
92906
23753
43875
45917
34809
87558
60942
15746
84856
26586
36069
42898
60947
10925
43705
19838
42355
23606
80991
89345
23284
8477
3594
84092
27536
38822

80051
79596
45678
9689
40213
29423
18603
41574
57192
84477
11916
15382
48129
46478
40586
34287
34662
37204
92173
1506

43809
38627
8711
3141
47013
55028
13297
10673
82298
58289
3136
58898
56715
85791
81432
40107
19849
9545
39173
87095
52879
84162
88823
36123
12319
3293
53593
5791
40020
86265
79218
23752
43874
45920
610
41842
46966
14090
19286
94160
32218
27537
60946
3657
16039
25650
40420
23607
31546
40397
55157
57160
3651
43353
14437
55541

81927
78892
43165
9696
54198
29420
47290
41544
57190
43656
9206
4965
48117
46479
89668
31142
82482
62499
8162
1570

Séllskapet, Ronneby
Malmé BK

Jarnvéagens BK

Skutskars BK - Gavle BK
Véaxjobridgen
Stenungsunds BK

PBF Uppsala

BK Falkenberg - Vessigebro BS
Norsjo BK

Lulea BK

Skutskérs BK

BK Falkenberg

Réttviks BS

Emmaboda BK - Vissefjarda BK
Malmé BK

Ljungsbro BK

BK Falkenberg

Skellefted BK
Uppsalabridgen - PBF Uppsala
Skutskérs BK - Gavle BK
Filbyter Bridge - BK Debut
Enkdpings BS

Tjorns BK

Rattviks BS

Séllskapet, Ronneby
Skutskars BK

Finnskoga BS

Malmé BK

Véaxjobridgen

Emmaboda BK
Skanninge BK

BK Falkenberg

Kungalvs BK
Véaxjobridgen

Sallskapet, Ronneby
Tjorns BK

Stenungsunds BK
Hagfors BK
Bridgekamraterna Nybro - Emmaboda BK
Lulea BK

Enkdpings BS

Norsjo BK

Stenungsunds BK
Hagfors BK

Finnskoga BS

BK Falkenberg
Véaxjobridgen

Enkopings BS

BK Falkenberg

Luled BK

BK Dalom - Insjéns BK
Boden-Savast BS - Luled BK
Hagfors BK

Vaxjobridgen

Norsjo BK

Emmaboda BK

Véaxjobridgen
Svegs BK
Lulea BK
Norsjo BK
Malmo BK
Rattviks BS
Enkdpings BS
Uppsalabridgen
Finnskoga BS
Véaxjobridgen
Filbyter Bridge
Svegs BK
Lulea BK
Jarnvégens BK
PBF Uppsala - Uppsalabridgen
PBF Uppsala
Billeruds BK
Emmaboda BK
Skutskars BK
Ljungsbro BK
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1 KD
Nord vE
Ingen + D976
&#EKD952
410973 #E86
v KKn952 v8643
+ EK10 *2
&10 &#Kn8763
& Kn542
v D107
+ Kn8543
&4
Par Kontr Ut
F9 F1 3NN= s A
R9 R17 3NN= *2
M10 M9 4¢ S= 46
K2 K11 2¢ N+1 v4
17 18 2¢ N+1 &A
P8 P6 2¢ N+1 &6
Cl0 C2 5vV-2 7
A3 Al2 INN= &5
J4  J3 24 N= *2
H7 H12 2& N= *2
B9 B18 2& N= *2
B17 B3 2&# N= *2
N2 N11 4¢ N-1 &T
P2 P11 34 N-1 v3
T2 T4 34 N-1 v3
E4 E6 3& N-1 *2
L4 L6 4¢ S-1 &T
A7 A8 3NN-1 *3
B7 B14 34 N-1 *2
N7 N12 4¢ S-1 &T
P7 P12 3NN-1 *6
R7 R3 4¢ S-1 &T
E8 E14 34 N-1 v4
J8 J6 4¢ S-1 v5
Q8 Q11 5¢ S-1 +K
H9 H1l 3NN-1 &3
19 11 5¢ S-1 *A
J9 J1 3« N-1 v3
N9 N1 3&N-1 *2
B10 B20 3« N-1 *2
D10 D5
Al4 Al 3NS-1 aT
B15 B2 3« N-1 *2
D2 D4
L2 L5 5¢ S-2 &T
M3 M16 5¢ S-2 &T
B5 B21 5¢ S-2 &T
G5 G2 5¢ S-2 &T
A6 A9 5¢ S-2 v2
G6 Gl 5¢ S-2 v2
06 O5 3NS-2 v2
R6 R16 3N S-2 v2
S6 S3 5¢ S-2 aT
J7 J12 4¢DN-1 ¢3
K7 K12 3NN-2 *6
C8 Cl11 5¢ S-2 &6
H8 H6 5¢ S-2 aT
L8 L14 5¢ S-2 &T
E9 E10 2NN -2 &8
Q9 Q4 5¢ S-2 &T
110 15 2NN-2 &3
K10 K5 3NS-2 +K
N10 N5 5¢ S-2 &T
010 O1 5¢ N-2 *2
P10 P5 3NN-2 46
Q10 Q2 5¢ S-2 aT
R10 R5 44 N-2 *2
All A4 5¢ S-2 aT
B1l B22 5¢ S-2 v2
L12 L7 5¢ S-2 &T
E13 E1 4% N-2 *2
Q14 Q7 3NN-2 &3
Cl5 C6 44 N-2 *2
Q15 Q6 5& N -2 v3
B16 B8 3N N-2 v3
D7 D8 .
P9 P1 3vO-= &4
J2 J11 3NN-3 v8
C3 C5 5# N-3 v3
L3 L11 4% N-3 v4
N4 N3 5& N -3 *2
04 O7 4 N-3 v8
B6 B23 4# N -3 s A
F7 F8 44 N-3 v4
K8 K6 54 S-3 &6
08 O3 3NS-3 v2
C9 C4 3NS-3 v2
T10 T5 5# N-3 *2
E12 E7 5% N-3 *2

Basta kontrakt
4¢ ND-1-100

U1 U100 00 i
AWOOS
cohde
o~ U
~~NoozZ

N
S
o)
v

Poang

247.0
247.0
244.0
240.0
240.0
240.0
236.0
230.0
230.0
230.0
230.0
230.0
204.0
204.0
204.0
204.0
204.0
204.0
204.0
204.0
204.0
204.0
204.0
204.0
204.0
204.0
204.0
204.0
204.0
204.0
204.0
204.0
204.0
151.0
151.0
151.0
151.0
151.0
151.0
151.0
151.0
151.0
151.0
151.0
151.0
151.0
151.0
151.0
151.0
151.0
151.0
151.0
151.0
151.0
151.0
151.0
151.0
151.0
151.0
151.0
151.0
151.0
151.0
151.0
151.0
117.0
117.0

96.0

96.0

96.0

96.0

96.0

96.0

96.0

96.0

96.0

96.0

96.0

96.0

-50

-50

-50

-50

-50

-50

-50
-100
-100
-100
-100
-100
-100
-100
-100
-100
-100
-100
-100
-100
-100
-100
-100
-100
-100
-100
-100
-100
-100
-100
-100
-100
-100
-100
-100
-100
-100
-100
-100
-140
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-150
-150
-150
-150
-150
-150
-150
-150
-150
-150
-150
-150
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152.0
152.0
152.0
152.0
152.0
152.0
152.0
152.0
152.0
152.0
152.0
152.0

2 & Kn7
Ost v 754
NS + KDKn10
*K975
482 « EKD643
vKD632 v EKn8
¢ E42 97
#Kn32 %86
41095
v 109
+ 8653
#ED104
Par Kontr Ut
T10 T5 4v V-1 ¢+ K
M13 M6 3v V-1 +K
I7 18 34 O+2 *T
P9 Pl 24 O+3 &T
B10 B20 24 O+3 &T
R10 R5 3v V+2 K
B16 B8 24 O+3 &4
D2 D4 .
F2 F4 24 O+4 9T
2 14 24 O+4 v9
N2 N11 3v V+3 ¢K
T2 T4 34 O+3 &7
C3 C5 340+3 vT
Q3 Q5 24 O+4 T
G4 G3 24 O+4 vT
J4 I3 24 O+4 vT
L4 L6 34 O+3 *T
M4 M15 3v V+3  ¢K
N4 N3 3v V+3 +¢K
04 O7 3vV+3 K
A5 A10 24 O+4 T
A6 A9 24 O+4 T
06 O5 264 O+4 o7
J7 J12 24 O+4 T
K7 K12 24 O+4 T
P7 P12 24 O+4 a5
S7 S2 24 O+4 T
T7 T8 24 O+4 45
08 O3 34 O+3 T
P8 P6 24 O+4 T
B9 B18 24 O+4 vT
H9 H1l 24 O+4 T
L9 L10 24 O+4 +8
N9 N1 24 O+4 3
Q9 Q4 24 O+4 T
D10 D5
110 I5 3v V+3 +¢K
K10 K5 3v V+3 +K
M10 M9 24 O+4 *T
010 O1 24 O+4 45
R12 R11 34 O+3 *T
E13 E1 34 O+3 &4
Ql4 Q7 24 O+4 T
Q15 Q6 34 O+3 5
R7 R3 4v V= +K
N8 N6 44 O= *A
A3 Al2 44 O+1 &A
E3 E11 44 O+1 #A
B4 B19 44 O+1 @A
B7 B14 44 O+1 #A
H7 H12 44 O+1 #Q
N7 N12 44 O+1 #A
09 02 44 O+1 &T
L13 L1 44 O+1 &4
M14 M5 44 O+1 &A
B15 B2 44 O+1 #A
Cl5 C6 44 O+1 &T
B17 B3 44 O+1 &A
Bl B13 44 O+2 #A
E2 E5 44 O+2 vT
H2 H11 44 O+2 v9
J2 J11 4v V+2 #K
L2 L5 4v V+2 K
P2 P11 44 O+2 38
D3 D6 .
F3 F6 44 O+2 T
I3 16 4y V+2 &7
L3 L11 4v V+2 ¢K
M3 M16 44 O+2 vT
T3 T6 44 O+2 vT
E4 E6 44 O+2 T
H4 H3 4v V+2 ¢K
P4 P3 44 O+2 vT
S4 S5 44 O+2 97
G5 G2 44 O+2 T
B6 B23 44 O+2 &T
G6 Gl 44 O+2 ¢6
S6 S3 44 O+2 vT
A7 A8 44 O+2 vT

Basta kontrakt
54 O =-450

<Onz
U1 U100 00 i

Res

50

50

-200
-200
-200
-200
-200
-230
-230
-230
-230
-230
-230
-230
-230
-230
-230
-230
-230
-230
-230
-230
-230
-230
-230
-230
-230
-230
-230
-230
-230
-230
-230
-230
-230
-230
-230
-230
-230
-230
-230
-230
-230
-230
-420
-420
-450
-450
-450
-450
-450
-450
-450
-450
-450
-450
-450
-450
-480
-480
-480
-480
-480
-480
-480
-480
-480
-480
-480
-480
-480
-480
-480
-480
-480
-480
-480
-480
-480

GIUI0 00 e

Poang

247.0
247.0
240.0
240.0
240.0
240.0
240.0
198.0
198.0
198.0
198.0
198.0
198.0
198.0
198.0
198.0
198.0
198.0
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72.0
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3 & KKn10
Syd v 10962
ov ¢ E
&EKD97
& E97 D4
vEDKNn53 v K874
¢ K109 4643
105 &#Kn843
486532
v-
+ DKn8752
»62
Par Kontr Ut
J2 J11 4eDS= &T
J8 J6 3vDV-2 &K
F10 F5 3¢DS= &T
M1 M3 4e S+1 &T
K8 K6 44 S+1 &T
Q1 Q16 44 S= &T
Q4 Q6 44 S= &T
G5 G2 44 S= &T
A6 All 44 S= &T
G6 Gl 44 S= &T
C7 C15 4« S= vA
L10 L11 44 S= &T
M11 M10 4e S= a7
M18 M2 4e N= vA
Al A3 4v V-3 *A
H2 H1l 3vyDV-1 &A
C4 C6 3vyDV-1 &A
P4 P3 4v V-2 &A
A7 A10 34 S+2 &T
17 18 3v V-2 *A
J7 J12 3v V-2 &A
L9 L14 4vDV-1 +A
P10 P5 3vDV-1 &A
Al2 A5 3vyDV-1 &A
R15 R3 3vDV-1 +¢A
B16 B3 3v V-2 »A
Q14 Q8 24 S+2 vA
P2 P11 24 S+1 &T
J4 J3 34 S= vA
P7 P12 24 S+1 +9
Q10 Q5 34 N= v7
Cl C16 24 S= &T
N10 N5 24 S= &T
R1 R12 2v V-1 *A
D2 D4
F3 F6 2v V-1 *A
L3 L6 3v V-1 *A
T3 T6 3v V-1 &K
E4 E12 3v V-1 &A
L5 L7 3v V-1 &A
S6 S3 3v V-1 &K
D7 D8
H7 H12 4v V-1 *A
N7 N12 3v V-1 »A
H8 H6 3v V-1 &A
F9 Fl1 3vO-1 +8
E10 E11 3v V-1 *A
Cll C3 3v V-1 &A
E13 E2 3v O-1 &A
R13 R2 3v V-1 &6
B1l B21 2&# N= v4
L1 L8 44 S-1 v3
Ol O3 44 S-1 &T
F2 F4 44 S-1 &T
12 14 44 S-1 v3
T2 T4 3¢ S-1 &T
H4 H3 3& N-1 v4
E5 E7 44 S-1 vA
M5 M16 44 S-1 &T
O5 08 44 N-1 vK
K7 K12 4% N-1 v7
A8 A9 3¢ S-1 vA
N8 N6 44 S-1 vA
R8 R4 3& N-1 vK
M9 M12 3& N-1 v4
Cl0 C5 44 S-1 vA
010 O2 44 S-1 vA
Ql1 Q3 44 S-1 &T
Ald A2 44 S-1 vA
E9 E14 INV= &A
N2 N11 64 S-2 vA
S4 S5 44 S-2 &5
B5 B20 3% N-2 v4
T7 T8 44 S-2 vA
P8 P6 44 S-2 *6
J9 J1 44 N-2 v7
R9 R14 3¢ S-2 vA
T9 T1 44 N-2 vK
B10 B19 4& N-2 4Q
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Basta kontrakt

44 S =420
& ¢ v & NT
N7 9 5 105
S 7 9 5 105
O3 38338
V 338338
Res Poang
510 248.0 0.0
500 246.0 2.0
470 2440 4.0
450 2410 7.0
450 2410 7.0
420 230.0 18.0
420 230.0 18.0
420 230.0 18.0
420 230.0 18.0
420 230.0 18.0
420 230.0 18.0
420 230.0 18.0
420 230.0 18.0
420 230.0 18.0
300 220.0 28.0
200 208.0 40.0
200 208.0 40.0
200 208.0 40.0
200 208.0 40.0
200 208.0 40.0
200 208.0 40.0
200 208.0 40.0
200 208.0 40.0
200 208.0 40.0
200 208.0 40.0
200 208.0 40.0
170 196.0 52.0
140 191.0 57.0
140 191.0 57.0
140 191.0 57.0
140 191.0 57.0
110 185.0 63.0
110 185.0 63.0
100 166.0 82.0
100 166.0 82.0
100 166.0 82.0
100 166.0 82.0
100 166.0 82.0
100 166.0 82.0
100 166.0 82.0
100 166.0 82.0
100 166.0 82.0
100 166.0 82.0
100 166.0 82.0
100 166.0 82.0
100 166.0 82.0
100 166.0 82.0
100 166.0 82.0
100 166.0 82.0
100 166.0 82.0
90 148.0 100.0
-50 129.0 119.0
-50 129.0 119.0
-50 129.0 119.0
-50 129.0 119.0
-50 129.0 119.0
-50 129.0 119.0
-50 129.0 119.0
-50 129.0 119.0
-50 129.0 119.0
-50 129.0 119.0
-50 129.0 119.0
-50 129.0 119.0
-50 129.0 119.0
-50 129.0 119.0
-50 129.0 119.0
-50 129.0 119.0
-50 129.0 119.0
-50 129.0 119.0
-90 110.0 138.0
-100 98.0 150.0
-100 98.0 150.0
-100 98.0 150.0
-100 98.0 150.0
-100 98.0 150.0
-100 98.0 150.0
-100 98.0 150.0
-100 98.0 150.0
-100 98.0 150.0




M12 M7 5& N-3 ¢A -150 96.0 152.0( D7 D8 -480 72.0 176.0 |R11 R6 3& N-2 v7 -100 98.0 150.0
R12 R11 1v N-3 ¢2 -150 96.0 152.0( F7 F8 4v V+2 ¢K -480 72.0 176.0|B12 B23 44 S-2 vA -100 98.0 150.0
Al13 A2 5 N-3 ¢2 -150 96.0 152.0| C8 C11 4y V+2 ¢K -480 72.0176.0( B2 B14 2v V= ¢A -110 76.0 172.0
C13 C1 3NN-3 v3 -150 96.0 152.0| E8 E14 44 O+2 &A -480 72.0176.0| 13 16 2v V= ¢A -110 76.0 172.0
M13 M6 3NN -3 #6 -150 96.0 152.0( H8 H6 44 O+2 T -480 72.0176.0| O7 06 2v V= #A -110 76.0 172.0
M14 M5 5& N -3 v3 -150 96.0 152.0| J8 J6 4v V+2 K -480 72.0176.0| B8 B15 2v V= ¢A -110 76.0 172.0
M18 M1 3NN-3 v6 -150 96.0 152.0| K8 K6 4y V+2 ¢K -480 72.0176.0| H9 H1l 2v V= «A -110 76.0 172.0
P4 P3 2vV+2 &A -170 74.0174.0| L8 L14 44 O+2 ¢T -480 72.0176.0| O9 O4 24 V= ¢A -110 76.0 172.0
F10 F5 3vV+l &A -170 74.01740| Q8 Q11 5v V+1 ¢K -480 720 176.0(C13 C2 2v V= ¢A -110 76.0 172.0
Cl4 C7 3y V+l &A -170 740 1740| S8 S1 44 O+2 48 -480 72.0176.0|M13 M8 2v V= ¢A -110 76.0 172.0
D3 D6 -200 59.0 189.0( C9 C4 44 O+2 T -480 720 176.0(Cl4 C8 2v V= ¢A -110 76.0 172.0
E3 E11 3NS-4 v9 -200 59.0 189.0| E9 E10 44 O+2 8 -480 720 176.0(B17 B9 2v V= #A -110 76.0 172.0
F3 F6 3NS-4 v9 -200 59.0189.0| F9 F1 44 O+2 6 -480 72.0176.0|B18 B4 2v V= ¢A -110 76.0 172.0
G4 G3 3NN-4 v8 -200 59.0189.0| 19 11 44 O+2 T -480 72.0176.0| E1 E8 2vV+1 ¢A -140 48.0 200.0
S4 S5 3NS-4 v5 -200 59.0189.0( J9 J1 4vV+2 ¢K -480 7201760 E3 E6 3v V= ¢A -140 48.0 200.0
N8 N6 3NN-4 v3 -200 59.0189.0| K9 K1 44 O+2 45 -480 72.0176.0| L4 L12 3v V= «A -140 48.0 200.0
L9 L10 3NN-4 v4 200 59.0 189.0 R9 R17 44 O+2 ¢T -480 720 176.0( N4 N3 3v V= ¢A -140 48.0 200.0
09 02 3NS-4 v9 -200 59.0189.0| T9 T1 44 O+2 T -480 72.0176.0|( B6 B22 2v V+1 &A -140 48.0 200.0
T9 T1 3NN-4 v6 -200 59.0189.0|C10 C2 4y V+2 ¢K -480 720176.0| F7 F8 2y V+l1 &A -140 48.0 200.0
R15 R2 6# N-4 ¢2 -200 59.0189.0|F10 F5 44 O+2 T -480 72.0176.0( S8 S1 2vV+l &A -140 48.0 200.0
C16 C12 3NN-4 #3 -200 59.0 189.0(N10 N5 44 O+2 &5 -480 72.0176.0( D9 D1 -140 48.0 200.0
R18 R4 3NN-4 6 -200 59.0 189.0(P10 P5 4y V+2 ¢K -480 72.0176.0( N9 N1 2vV+l1 ¢A -140 48.0 200.0
T3 T6 3NN-5 4A -250 46.0 202.0|Q10 Q2 44 O+2 T -480 72.0176.0( P9 P1 2vV+1l &A -140 48.0 200.0
F2 F4 44DN-2 43 -300 34.0214.0(A11 A4 44 O+2 T -480 72.0176.0|D10 D5 -140 48.0 200.0
H2 H11 44DN-2 ¢2 -300 34.0214.0(B11 B22 44 O+2 45 -480 72.0176.0| 110 15 3v V= ¢A -140 48.0 200.0
12 14 5¢DS-2 &T -300 34.0214.0|E12 E7 4vV+2 ¢K -480 72.0176.0|R10 R17 3v V= #A -140 48.0 200.0
H4 H3 5¢DS-2 &T -300 34.02140(L12 L7 4vV+2 ¢K -480 72.0176.0|T10 T5 2vV+1 ¢A -140 48.0 200.0
T7 T8 5¢DS-2 &T -300 34.0214.0|M12 M7 4v V+2 ¢K -480 72.0176.0|L13 L2 2vV+1l &#A -140 48.0 200.0
M8 M11 5¢DS-2 &T -300 34.0214.0(A13 A2 44 O+2 +6 -480 72.0176.0|M14 M7 3v V= ¢A -140 48.0 200.0
S8 S1 5¢DS-2 &T -300 34.02140(C13 Cl1 44 O+2 ¢5 -480 72.0176.0|M15 M6 2v V+1 &A -140 48.0 200.0
D9 D1 -300 34.0 2140(R13 R1 44 O+2 T -480 72.0176.0 (K10 K5 44 S-3 vA -150 29.0 219.0
K9 K1 5¢DS-2 T -300 34.0214.0|A14 Al 44 O+2 T -480 72.0 176.0(B13 B7 5# N-3 vK -150 29.0 219.0
R14 R8 5¢DS-2 &T -300 34.0214.0(C14 C7 44 O+2 T -480 720 1760| G4 G3 5¢ S-4 &T -200 24.0 224.0
Q16 Q12 5¢DN-2 ¥4 -300 34.02140|R14 R8 44 O+2 ¢6 -480 72.0176.0|H10 H5 3NN-4 v4 -200 24.0 224.0
B4 B19 4v V= #A 420 22.0226.0(R15 R2 4v V+2 ¢K -480 72.0176.0|R18 R5 3NN-4 v6 -200 24.0 224.0
E2 E5 5¢DN-3 ¥8 -500 13.0235.0|C16 C12 4v V+2 ¢K -480 72.0176.0| A4 Al3 44DS-2 vA -300 17.0231.0
I3 16 4#4DN-3 ¢2 -500 13.0 235.0|Q16 Q12 44 V+2 T -480 72.0176.0( M4 M17 54DN-2 2 -300 17.0 231.0
M4 M15 64DS-3 #2 -500 13.0235.0M17 M2 4v V+2 K -480 72.0176.0| S7 S2 54DN-2 v4 -300 17.0 231.0
A5 A10 54DN-3 &5 -500 13.0 235.0(M18 M1 44 O+2 T -480 72.0176.0| C9 C12 44DN-2 ¢K -300 17.0 231.0
S7 S2 54DN-3 ¢2 -500 13.0235.0(R18 R4 4vy V+2 ¢J -480 720 176.0|R16 R7 44DN-3 ¥4 -500 12.0 236.0
L13 L1 54DN-3 ¥4 -500 13.0235.0| K2 K11 3NV +3 ¢K -490 8.0 240.0| Q7 Q15 2¢yDV= &A -670 10.0 238.0
R13 R1 54DN-3 #4A -500 13.0235.0| R6 R16 3NV+3 ¢K -490 8.0 240.0 | K2 K11 3vyDV= +¢A -730 6.0 242.0
M17 M2 44DN-3 ¢6 -500 13.0 235.0| M8 M11 3NV +3 ¢K -490 8.0 240.0 | D3 D6 -730 6.0 242.0
Bl B13 3vyDO+1 #A -630 4.0 2440| B5 B21 44 O+3 T -510 3.0245.0| Q9 Q12 3vyDV= &A -730 6.0 242.0
Q3 Q5 54DN-4 v4 -800 1.0 2470 D9 D1 -510 3.0245.0| K9 K1 3NDN-4 ¥4 -800 2.0 246.0
H10 H5 44DN-4 v6 -800 1.0 247.0 [H10 H5 6v V= ¢+K -980 0.0248.0| 19 11 4¢yDV+2 &T -1190 0.0 248.0
K4 - 164.2 K4 - 164.2 B1 - 146.8
- J5 1494 - J5 149.4 | K4 - 164.2
B12 - 132.0 B12 - 132.0 - J5 149.4
- Q1 107.2 - Q1 107.2 - Q2 166.3
4 s E7 Basta kontrakt 5 49743 Basta kontrakt 6 & D42 Basta kontrakt
Vast v 5432 ANT N =630 Nord v 82 4v O =-420 Ost v EDKn1042 34 S =140
Alla ¢ 94 NS ¢ Kn9854 ov ¢ D7
#EK875 & ¢ v & NT *94 & ¢ v & NT D3 & ¢ v & NT
4 KKnl0 498632 N 118 107 10 4 KD5 4 E1086 N37 333 486 & KKn5 N57 897
vE8 v 10976 S 118 107 10 vKDKn4 v 10765 S37333 v 985 vK76 S57797
¢+ Kn8753 ¢ K62 02536 3 *7 ¢ EK 09 5 109 9 ¢+Kn32 ¢ K1086 086546
«D43 &Kn V2536 3 #K10762 #853 vV 9 5 109 9 #E8642 #K109 V86546
4 D54 4 Kn2 « E10973
v KDKn v E93 v3
+ ED10 + D10632 ¢ E954
#10962 #EDKn #Kn75
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
A8 A9 3NS+3 ¢3 690 2480 00| G5 G4 2¢ O-2 4J 100 246.0 20| P5 P4 4¢DO-4 ¥3 1100 2480 0.0
El E8 3NS+2 43 660 230.0 180| O6 09 54DV-1 ¢4 100 246.0 20| S1 S3 4y N= ¢6 420 2420 6.0
H1 H7 3NS+2 3 660 230.0 18.0 (D10 D6 100 2460 2.0 J3 J11 4v N= 9 420 2420 6.0
T3 T5 3NS+2 ¢3 660 2300 18.0| H3 H11l INS= vK 90 2420 6.0 R9 R5 4y N= v7 420 2420 6.0
F4 F7 3NS+2 ¢3 660 230.0 18.0(B1l1 B20 1¢ S= vK 70 240.0 8.0|N10 N6 44 S= 46 420 2420 6.0
H5 H4 3NS+2 ¢3 660 230.0 18.0| B3 B15 3NO-1 3 50 2350 13.0(E13 E3 4v N= a5 420 2420 6.0
P5 P4 3NS+2 3 660 2300 18.0| J5 J4 34 O-1 42 50 2350 13.0( T3 T5 3¢ O-3 v3 300 236.0 12.0
C7 C15 3NS+2 +5 660 230.0 18.0(E13 E3 44 O-1 46 50 2350 13.0( H1 H7 2¢» N+3 ¢6 200 225.0 23.0
Q7 Q15 3NS+2 ¢7 660 230.0 18.0(B14 B8 34 O-1 6 50 2350 13.0( O1 O5 2¥y N+3 ¢6 200 225.0 23.0
P8 P12 3NN+2 49 660 2300 18.0| K9 K2 24V+1 2 -110 229.0 19.0| A5 Al 2v N+3 ¢K 200 225.0 23.0
R8 R4 3NS+2 7 660 230.0 18.0(B18 B10 2#V+1 ¢4 -110 229.0 19.0| N5 N4 1INO-2 v3 200 2250 23.0
S8 S2 3NS+2 5 660 230.0 180( A5 Al 24V+2 ¢4 -130 2220 26.0| T9 T2 3#DV-1 vA 200 2250 23.0
K9 K2 3NS+2 ¢33 660 230.0 18.0| B6 B21 24V +2 ¢4 -130 2220 26.0|H10 H6 2y N+3 ¢6 200 2250 23.0
M9 M12 3NS+2 ¢3 660 230.0 180|C10 C1 3«V+l ¢4 -130 2220 26.0|M10 M13 2v N+3 8 200 225.0 23.0
R9 R14 3NS+2 +5 660 230.0 18.0(010 O3 2#V+2 ¢4 -130 2220 26.0|L11 L12 2¢ N+3 ¢6 200 2250 23.0
T9 T2 3NS+2 vA 660 230.0 18.0|Q10 Ql 44 V= v8 -130 2220 26.0|/R13 R3 2y N+3 8 200 225.0 23.0
K10 K6 3NS+2 ¢7 660 2300 180| B1 B23 24 O+1 ¢2 -140 2110 37.0|Cl6 C2 2vy N+3 46 200 2250 23.0
Q14 Q8 3NS+2 3 660 230.0 18.0| HI H7 34 O= ¢3 -140 211.0 370 A2 A4 2vy N+2 &T 170 203.0 45.0
M1 M3 3NS+1 6 630 189.0 59.0| S1 S3 24 O+1 ¢3 -140 211.0 37.0| O2 0O4 2v N+2 &T 170 203.0 45.0
N1 N7 3NS+1 vA 630 189.0 59.0| R6 R18 3v V= 9 -140 211.0 370 F3 F5 2¢» N+2 v6 170 203.0 45.0
P1 P7 3NS+1 3 630 189.0 59.0| H9 H2 24 O+1 6 -140 211.0 37.0| D4 D7 170 203.0 45.0
Q1 Q16 3NS+1 3 630 1890 59.0| 110 16 24 O+1 ¢Q -140 2110 370| E4 E7 2v N+2 8 170 203.0 45.0
S1 S3 3NS+1 ¢5 630 189.0 59.0( O2 O4 2NO+1 ¢3 -150 202.0 46.0| S5 S6 2y N+2 ¢6 170 203.0 45.0
J3 J11 3NS+1 ¢3 630 189.0 59.0| J3 Ji1 2NV+1 +5 -150 202.0 460 O6 09 2vy N+2 &9 170 203.0 450
L3 L6 3NS+1 ¢3 630 189.0 59.0| D4 D7 . -150 202.0 46.0| A8 All 2y N+2 ¢2 170 203.0 45.0
N3 N11 3NS+1 7 630 189.0 59.0( G1 G3 34 O+1 ¢2 -170 177.0 71.0| D9 D2 170 203.0 45.0
C4 C6 3NS+1 45 630 189.0 59.0| J1 J7 3vO+1 4J -170 1770 71.0|T10 T6 2v N+2 6 170 203.0 450
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0Ol O3 4vy N-1 & -100 7.0 241.0 [E11 E12 4y O+1 & -450 12.0 236.0 ([Q11 Q6 44 S-3 &A -150 14.0 234.0
R1 R12 3v N-1 N -100 7.0241.0|R12 R7 4vy O+1 ¢2 -450 12.0 236.0(Q16 Q2 44 S-3 2 -150 14.0 234.0
O7 06 3NS-1 +3 -100 7.0 2410 L13 L3 4v V+1 ¢4 -450 12.0 236.0 I3 15 44 S-4 2 -200 3.0 245.0
T10 T6 3NS-1 +3 -100 7.0 241.0|C1l6 C2 4vy O+1 &J -450 12.0 236.0( M5 M1l 44 S-4 *J -200 3.0 245.0
Cl4 C8 24 O= vK -110 2.0 246.0(C12 C4 3vyDV+1 ¢4 -630 20246.0| J9 J2 44 S-4 v9 -200 3.0 245.0
110 16 3v S- +8 -200 0.0248.0| T8 T1 3NDO+1 &J -650 0.0 248.0 |A13 A6 44 S-4 &A  -200 3.0 245.0
B1 - 146.8 - K11 131.2 - K11 131.2
- K11 131.2 | B7 - 149.6 B7 - 149.6
- J6 105.0 - J6 105.0 - J6 105.0
- Q2 166.3 - Q3 108.2 - Q3 108.2
7 «D3 Basta kontrakt 8 4 E103 Basta kontrakt 9 & K109 Basta kontrakt
Syd v KD3 44 V =-620 Vast v73 3NT V =-400 Nord v KD105 ANT N =430
Alla + D764 Ingen + 854 ov + K9843
&EKN72 & ¢ v & NT &EKD54 & ¢ v & NT &Kn & ¢ v & NT
& EK8754 496 N8 2 433 & K6 & D8 N5 436 4 4 875432 & Kn6 N9 9 9 7 10
v E108 v 9752 S82 433 v KKn108 vED94 S5436 4 vES8 v Kn763 S9 997 10
+ 10932 ¢ EKKn5 O 5 108 108 ¢ EK102 ¢D7 0889 409 + Kn6 ¢ ED52 O3 3463
- D106 V 5 108 108 #1097 #Kn8632 V87 9 49 982 D43 V2346 3
& Kn102 & Kn97542 «ED
v Kn64 v 652 v 942
+8 + Kn963 + 107
#K98543 &»- &#EK10765
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
S2 S4 54DV-2 #A 500 2480 00| C3 Cl6 44DO-2 v6 300 247.0 1.0| P1 P12 3NN+3 v3 490 231.0 17.0
A3 A5 4v O-2 &3 200 2440 4.0|J11 J4 44DO-2 49 300 2470 10| C2 C6 3NN+3 v3 490 231.0 17.0
O3 O5 44DV-1 &A 200 2440 4.0|B20 B6 4v O-2 42 100 2440 40| M4 M6 3NN +3 v3 490 231.0 17.0
19 I3 34V-2 +5 200 2440 4.0| Bl B22 4v V-1 a4 50 183.0 65.0| T4 T6 3NN+3 v3 490 231.0 17.0
H10 H7 2& S+1 4 110 2400 80| F1 F2 4v V-1 &A 50 183.0 65.0| B5 B17 3NN +3 v6 490 231.0 17.0
E3 E10 44 V-1 &A 100 231.0 17.0| G1 G5 4v V-1 &A 50 183.0 65.0| D5 D8 490 231.0 17.0
T4 T6 3¢ O-1 &4 100 231.0 17.0| J1 J12 4v V-1 &A 50 183.0 65.0| L7 L3 3NN+3 v3 490 231.0 17.0
A8 Al3 44 V-1 vK 100 231.0 17.0| K1 K12 4v V-1 &A 50 183.0 65.0| L8 L10 3NN +3 v6 490 231.0 17.0
T9 T3 44 V-1 vK 100 231.0 17.0| N1 N12 4v V-1 &A 50 183.0 65.0| A9 Al 3NN+3 v3 490 231.0 17.0
B10 B17 4a V-1 vQ 100 231.0 17.0| R1 R8 4v V-1 &A 50 183.0 65.0 19 13 3NN+3 v3 490 231.0 17.0
Cl3 C4 3¢ 0-1 vJ 100 231.0 17.0| S1 S5 4v O-1 a5 50 183.0 65.0| T9 T3 3NN+3 v3 490 231.0 17.0
R17 R12 4e V-1 3 100 231.0 17.0| N2 N8 4v V-1 &A 50 183.0 65.0 |H10 H7 3NN +3 v3 490 231.0 17.0
B18 B5 44 V-1 vK 100 231.0 17.0| E3 E10 4v O-1 a] 50 183.0 65.0 (B11 B18 3NN +3 v3 490 231.0 17.0
09 08 2&S-= A 90 222.0 26.0| L3 L10 4v V-1 &A 50 183.0 65.0|L12 L14 3NN +3 v2 490 231.0 17.0
J11 J4 24 O= a] -90 2200 280 R3 R2 4v V-1 &K 50 183.0 65.0|C13 C5 3NN+3 v3 490 231.0 17.0
S1 S5 3&#N-1 46 -100 212.0 36.0| D4 D6 . 50 183.0 65.0|A14 A5 3NN +3 v3 490 231.0 17.0
Q3 Q16 3 S-1 A -100 212.0 36.0 14 16 49 O-1 a2 50 183.0 65.0 |C15 C10 3NN +3 v6 490 231.0 17.0
R3 R2 34 N-1 49 -100 212.0 36.0| T4 T6 4v V-1 &A 50 183.0 65.0|C16 C4 3NN+3 v3 490 231.0 17.0
D5 D8 -100 2120 36.0( D5 D8 50 183.0 65.0| B1 B21 3NN +2 v3 460 180.0 68.0
I5 18 3#S-1 4A -100 212.0 36.0| F5 F8 4v V-1 &A 50 183.0 65.0| D1 D2 460 180.0 68.0
T5 T8 34S-1 A -100 212.0 36.0 I5 18 4v V-1 &A 50 183.0 65.0| M1 M9 3NN +2 v3 460 180.0 68.0
C6 C8 3#S-1 4K -100 212.0 36.0| A6 A2 4v V-1 &A 50 183.0 65.0| S1 S5 3NN+2 v3 460 180.0 68.0
J6 J5 3¢ V+1 vK -130 2020 46.0( E6 E2 4v V-1 «Q 50 183.0 65.0| T1 T2 3NN+2 v6 460 180.0 68.0
E12 E1 3¢ O+1 & -130 202.0 46.0( L6 L2 4v V-1 &A 50 183.0 65.0| H2 H8 3NN +2 v3 460 180.0 68.0
Q12 Q7 3¢ V+1 A -130 202.0 46.0( N6 N5 4v V-1 &A 50 183.0 65.0| J2 J8 3NN+2 v3 460 180.0 68.0
Bl B22 34 V= vQ -140 1810 67.0( P6 P5 4v O-1 a4 50 183.0 65.0| N2 N8 3NN +2 «J 460 180.0 68.0
Cl C5 3«4V= #A -140 1810 67.0| S6 S7 4v V-1 aA 50 183.0 65.0| P2 P8 3NN +2 v6 460 180.0 68.0
J1 J12 24 V+1 6 -140 181.0 67.0| B7 B23 4v O-1 a] 50 183.0 65.0| Q2 Q6 3NN +2 v3 460 180.0 68.0
R1 R8 34 V= &A -140 181.0 67.0| L7 L9 4v V-1 &A 50 183.0 65.0] R2 R9 3NN +2 «J 460 180.0 68.0
H2 H8 34 V= &A  -140 181.0 67.0| M7 M1l 4y V-1 &A 50 183.0 65.0| E4 E11 3NN +2 v6 460 180.0 68.0
N2 N8 34 V= ¢4 -140 181.0 67.0| R7 R18 4v V-1 &A 50 183.0 650 F4 F6 3NN +2 v3 460 180.0 68.0
L7 L9 34 V= #A -140 181.0 67.0| A8 Al3 4v V-1 &A 50 183.0 65.0] R4 R3 3NN +2 v7 460 180.0 68.0
J9 J3 3aV= &A -140 181.0 67.0| B8 B13 4v O-1 a] 50 183.0 65.0| G6 G3 3NN +2 «J 460 180.0 68.0
Al0 All 34 V= vyK -140 181.0 67.0| D9 D3 50 183.0 65.0| H6 H5 3NN +2 v3 460 180.0 68.0
F10 F7 24 V+1 48 -140 181.0 67.0| J9 J3 4v V-1 &A 50 183.0 65.0| A7 A3 3NN+2 +5 460 180.0 68.0
H11 H4 36 V= &A  -140 181.0 67.0] N9 N3 4v V-1 &A 50 183.0 65.0| Q7 Q9 3NN +2 v3 460 180.0 68.0
M13 M12 34 V= A -140 1810 670 T9 T3 4v V-1 &A 50 183.0 65.0| E8 E10 3NS+2 8 460 180.0 68.0
R13 R4 24 V +1 vK -140 181.0 67.0 (Al10 A1l 4v O-1 a4 50 183.0 65.0| F9 F3 3NN +2 v6 460 180.0 68.0
Ald A4 36 V= &A  -140 181.0 67.0|B10 B17 4v V-1 &Q 50 183.0 65.0 |A10 A13 3NN +2 v3 460 180.0 68.0
E1l4 E11 24 V+1 ¢6 -140 181.0 67.0|F10 F7 4v V-1 &A 50 183.0 65.0|D10 D7 460 180.0 68.0
R15 R5 34 V= #A -140 181.0 67.0 (H10 H7 4v V-1 &A 50 183.0 65.0 |[N10 N7 3N S+2 vA 460 180.0 68.0
M16 M9 24 V +1 vK -140 1810 67.0( 110 7 4v O-1 a4 50 183.0 65.0|T10 T7 3NS+2 &4 460 180.0 68.0
B19 B1l 24 V +1 vK -140 181.0 67.0 (K10 K7 4v V-1 4A 50 183.0 65.0|J11 J4 3NN+2 ¢2 460 180.0 68.0
F1 F2 26 V+2 &A -170 120.0 128.0 |P10 P7 4v V-1 &A 50 183.0 65.0 |M12 M15 3N N +2 v3 460 180.0 68.0
Gl G5 24 V+2 vK -170 120.0 128.0 (Q10 Q14 4v V-1 &A 50 183.0 65.0 |[E13 E5 3NN +2 v5 460 180.0 68.0
H1 H12 24 V +2 43 -170 120.0 128.0|H11 H4 4v V-1 &A 50 183.0 65.0 Q14 Q11 3NN +2 v3 460 180.0 68.0
Pl P12 24 V+2 6 -170 120.0 128.0 |K11 K4 4v V-1 &A 50 183.0 65.0 |R14 R12 3NN +2 v6 460 180.0 68.0
J2 J8 34 V+1 6 -170 120.0 128.0 |[M11 M14 4% V-1 &A 50 183.0 65.0 |Q15 Q10 3NN +2 «J 460 180.0 68.0
K2 K8 2& V+2 ¢6 -170 120.0 128.0|C12 C7 4y V-1 &A 50 183.0 65.0|Q16 Q4 3NN +2 v6 460 180.0 68.0
02 06 34 V+1 vK -170 120.0 128.0 (E12 E1 4v V-1 &A 50 183.0 65.0|R17 R1 3NN +2 v3 460 180.0 68.0
P2 P8 34 V+1 «A -170 120.0 128.0 (L12 L1 4v V-1 &A 50 183.0 65.0 |M18 M5 3NN +2 v3 460 180.0 68.0
B3 B14 34 V+1 #A -170 120.0 128.0 (Q12 Q7 4v O-1 a4 50 183.0 65.0 H1 H12 3NN +1 &J 430 127.0 121.0
M3 M5 24 V +2 vK -170 120.0 128.0|C13 C4 4v O-1 a7 50 183.0 65.0| K1 K12 3NN +1 ¢2 430 127.0 121.0
14 16 36 V+1 #A -170 120.0 128.0 [E13 E4 4v O-1 a] 50 183.0 65.0| N1 N12 3NN +1 «J 430 127.0 121.0
E5 E8 34 V+1 #A -170 120.0 128.0 (M13 M12 4v O -1 a2 50 183.0 65.0] O1 09 3NN +1 &3 430 127.0 121.0
F5 F8 24 V +2 vK -170 120.0 128.0 |A14 A4 4v O-1 a4 50 183.0 65.0| G2 G4 3NN+1 «J 430 127.0 121.0
L5 L8 34 V+1 &A  -170 120.0 128.0 |E14 E11 4v O-1 a4 50 183.0 65.0| D4 D6 430 127.0 121.0
A6 A2 34 V+1 &A  -170 120.0 128.0|L14 L11 4v V-1 &A 50 183.0 65.0 14 16 3NN+1 &3 430 127.0 121.0
K6 K5 3& V+1 &A -170 120.0 128.0|B15 B9 4v V-1 aA 50 183.0 65.0] O4 O6 3NN +1 +5 430 127.0 121.0
L6 L2 24 V+2 ¢4 -170 120.0 128.0|Q15 Q9 4v V-1 &A 50 183.0 65.0| T5 T8 3NS+1 a2 430 127.0 121.0
N6 N5 24 V+2 ¢4 -170 120.0 128.0|M16 M9 4v V-1 &A 50 183.0 65.0| N6 N5 3NN +1 &J 430 127.0 121.0
P6 P5 24 V+2 #A -170 120.0 128.0 (M17 M8 4v V-1 &A 50 183.0 65.0| S6 S7 3NN+1 «J 430 127.0 121.0
S6 S7 34 V+1 &A -170 120.0 128.0|M18 M4 3NO-1 a5 50 183.0 65.0| M7 M3 3NS+1 48 430 127.0 121.0
B7 B23 3a4 V+1 vK -170 120.0 128.0 [R14 R11 3«4 S-1 +K -50 122.0 126.0( B9 B14 3NN +1 +5 430 127.0 121.0
E7 E9 24 V+2 &A -170 120.0 128.0| D1 D2 -100 119.0 129.0( 110 17 3NN +1 v7 430 127.0 121.0
O7 01 34 V+1 4Q -170 120.0 128.0( O3 O5 44 S-2 ¢A -100 119.0 129.0 (K10 K7 3NN +1 «J 430 127.0 121.0
R7 R18 24 V +2 &2 -170 120.0 128.0| J2 J8 2NO= 42 -120 115.0 133.0|R10 R16 3N S+1 &5 430 127.0 121.0
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F9 F3 34 V+l1 #A -170 120.0 128.0| O2 06 2NO= 44 -120 115.0 133.0|P11 P4 3NN+1 ¢2 430 127.0 121.0
N9 N3 24 V+2 46 -170 120.0128.0( I1 12 2vV+1 #A -140 95.0 153.0|B16 B10 3NN+1 ¢5 430 127.0 121.0
P9 P3 24 V+2 #A -170 120.0 128.0| P1 P12 3v O= 44 -140 95.0 153.0|R18 R8 3NN+1 v7 430 127.0 121.0
C10 C14 24 V+2 #&A -170 120.0 128.0| A3 A5 3v V= #A -140 95.0153.0|/B19 B6 3NN+1 &3 430 127.0 121.0
KI0 K7 24 V+2 ¢6 -170 120.0 128.0| M3 M5 3v V= #A -140 95.0153.0| C1 C8 3NS= 45 400 72.0 176.0
010 O4 34 V+1l A -170 120.0 128.0( B4 B16 2v V+1 #A -140 950 1530 E1 E2 3NS= 48 400 72.0 176.0
Q10 Q14 24 V+2 vK -170 120.0 128.0( F4 F6 3v V= #A -140 95.0153.0| F1 F2 3NN= ¢2 400 72.0 176.0
TI0O T7 34 V+1l #2 -170 120.0 128.0( T5 T8 3v V= #A -140 95.0 153.0| A2 A8 3NN= 4J 400 72.0 176.0
Cll C2 34V+1 #A -170 120.0 128.0| H6 H5 3v V= #A -140 95.0153.0| S2 S4 3NS= 44 400 72.0 176.0
N1l N4 34 V+1 #A -170 120.0 128.0| K6 K5 3v V= #A -140 95.0 153.0| B3 B13 3NN= ¢2 400 72.0 176.0
Cl2 C7 24 V+2 &7 -170 120.0 128.0| E7 E9 3v V= #A -140 95.0 153.0| O3 O7 3NS= 42 400 72.0 176.0
L12 L1 24 V+2 vK -170 120.0 128.0| S8 S3 3v O= 49 -140 95.0153.0| A4 A6 3NN= v8 400 72.0 176.0
E13 E4 24 V+2 vK -170 120.0 128.0| A9 Al2 3v V= #A -140 95.0 153.0| B4 B15 3NS= 44 400 72.0 176.0
L13 L4 34 V+1l #A -170 120.0 128.0| H9 H3 3v O= 49 -140 95.0153.0| L4 L11 3NS= 44 400 72.0 176.0
L14 L11 24 V+2 &7 -170 120.0 128.0|Q11 Q2 3v V= #A -140 95.0153.0| F5 F8 3NS= 42 400 72.0 176.0
Cl5 C9 34 V+1l vK -170 120.0 128.0 |M15 M10 3v V= #A -140 95.0 153.0| E6 E9 3NS= 48 400 72.0 176.0
Q15 Q9 24 V+2 #A -170 120.0 128.0(R15 R5 3v V= #K -140 95.0 153.0| K6 K5 3NS= 43 400 72.0 176.0
R16 R9 34 V+1 #A -170 120.0 128.0(B18 B5 3v O = 45 -140 95.0153.0| P6 P5 3NS= 48 400 72.0 176.0
M18 M4 34 V+1 #A -170 120.0 128.0|B19 B1ll 3v O= 42 -140 95.0153.0| C7 C9 3NS= 48 400 72.0 176.0
D10 D7 -180 76.0 1720 C1 C5 34 S-3 ¢A -150 69.0179.0| E7 E3 3NS= 42 400 72.0 176.0
I1 12 44S-2 a4A -200 66.0182.0| Q1 Q5 2NO+1 44 -150 69.0 179.0| M8 M2 3NN= 4J 400 72.0 176.0
G2 G4 44S-2 sA -200 66.01820| E5 E8 2NV+1 &K -150 69.0179.0| O8 02 3NS= 43 400 72.0 176.0
C3 Cl16 3#DS-1 «A -200 66.01820| 19 13 44S-3 +A -150 69.0179.0( S8 S3 3NS= 48 400 72.0 176.0
E6 E2 4#S-2 4K -200 66.01820| O9 O8 2#N-3 ¢Q -150 69.0179.0( D9 D3 400 72.0 176.0
110 17 2NN-2 5 -200 66.0182.0(N10 N7 2#N-3 ¢Q -150 69.0179.0| H9 H3 3NS= 47 400 72.0 176.0
M11 M14 4#S-2 «A -200 66.0182.0|{010 O4 44 S-3 ¢K -150 69.0179.0( P9 P3 3NN= +5 400 72.0 176.0
B12 B21 44 S-2 4K -200 66.01820|C11 C2 34 S-3 ¢A -150 69.0179.0|F10 F7 3NS= 47 400 72.0 176.0
M15 M10 3#DN-1 ¢A -200 66.0182.0| G2 G4 2vV+2 A -170 55.0 193.0(010 O5 3NS= 45 400 72.0 176.0
M17 M8 34DS-1 A -200 66.0182.0| H2 H8 3v V+l1 &A -170 55.0 193.0 (A1l A12 3NS= 48 400 72.0 176.0
B4 B16 2¢ N-5 49 -500 53.0195.0| P2 P8 2vyV+2 &A -170 55.0 193.0|H11 H4 3NS= 44 400 72.0 176.0
H6 H5 44DS-2 4K -500 5301950 (P11 P4 3vV+l #A -170 55.0193.0|N11 N4 3NS= 44 400 72.0 176.0
M7 M1 44DS-2 A -500 53.0195.0(Bl12 B21 2v V+2 #A -170 55.0 193.0(C12 C3 3NS= 48 400 72.0 176.0
D9 D3 -500 53.0 195.0(R13 R4 2v O+2 4J -170 55.0 193.0E12 E14 3NN= 4J 400 72.0 176.0
Al A7 4a V= ¢6 -620 29.0219.0| F9 F3 44 S-4 ¢A -200 47.0201.0|Q12 Q3 3NS= 42 400 72.0 176.0
D1 D2 -620 29.0 219.0 [N11 N4 3#N-4 vA -200 47.0201.0(R13 R5 3NN-= 4J 400 72.0 176.0
K1 K12 44 V= A  -620 29.0219.0| Q6 Q8 44DS-2 ¢A -300 44.0204.0(C14 C11 3NS= 44 400 72.0 176.0
N1 N12 44 V= vK -620 29.0 219.0| H1 H12 3NV = #A -400 34.0 214.0 |M14 M13 3NS= 42 400 72.0 176.0
Ql Q5 44 V= vK -620 29.0 219.0| Q3 Q16 3NO= 42 -400 34.0 2140|R15 R6 3NN= +5 400 72.0 176.0
L3 L10 44 V= ¢7 620 29.0219.0| L5 L8 3NV= #A -400 34.0 214.0|B20 B12 3NN-= 4J 400 72.0 176.0
F4 F6 44 V= #A -620 29.0219.0| C6 C8 3NO= 45 -400 34.0 214.0M17 M10 2NN+3 v3 210 36.0 212.0
G6 G3 44 V= #A -620 29.0 219.0| O7 O1 3NO= 42 -400 34.02140(|P10 P7 2NS+2 vA 180 34.0 214.0
Q6 Q8 44 V= #A -620 29.0 219.0|C10 C14 3NO= 44  -400 34.0 214.0| B7 B22 2vy N+2 4J 170 32.0 216.0
B8 B13 44 V= #A -620 29.0 219.0|L13 L4 3NV= #A -400 34.02140| Q1L Q8 INS+2 42 150 29.0 219.0
S8 S3 44 V= #A -620 29.0 219.0|C15 C9 3NO= 44 -400 34.02140| L6 L9 2NS+1 48 150 29.0 219.0
A9 Al2 44 V= vK -620 29.0 219.0 ([R17 R12 3NO= 47 400 34.02140| J6 J5 3#S+1 43 130 24.0 224.0
H9 H3 44 V= #A -620 29.0 219.0| AL A7 4v V= A -420 16.0232.0| J9 J3 2#S+2 48 130 24.0 224.0
N10 N7 4a V= vK -620 29.0 219.0| S2 S4 4y V= #Q -420 16.0 232.0(L13 L5 3#N+1 4J 130 24.0 224.0
P10 P7 44 V= vK -620 29.0 219.0| B3 B14 4y V= A  -420 16.0 232.0| G1 G5 3NN-1  4J -50 13.0 235.0
K1l K4 44 V= vK -620 29.0 219.0| G6 G3 4y V= #A -420 16.0 232.0| J1 J12 3NS-1 43 -50 13.0 235.0
P11l P4 44 V= #A -620 29.0 219.0| M6 M2 4v V= #A -420 16.02320| L1 L2 3NS-1 43 -50 13.0 235.0
Q11 Q2 4a V= #A  -620 29.0219.0| P9 P3 4y V= A -420 16.0 232.0| B2 B23 3#S-1 vA -50 13.0 235.0
R14 R11 44 V= vyQ -620 29.0 219.0|R10 R6 4v V= #A -420 16.0 232.0| N9 N3 4v N-1 4] -50 13.0 235.0
B20 B6 44 V= #A -620 29.0 219.0|T10 T7 4v V= #A -420 16.0 232.0|K11 K4 3NS-1 45 -50 13.0 235.0
Tl T2 44 V+1 vK -650 5.0 243.0|R16 R9 4v V= #A -420 16.0 232.0|R11 R7 4y N-1  ¢2 -50 13.0 235.0
D4 D6 -650 5.0 243.0 (D10 D7 -430 6.0 242.0 (M16 M11 3# N-1 4] -50 13.0 235.0
M6 M2 44 V+1 4Q -650 50243.0( K2 K8 2#4DN-3 #2 -500 302450 [1 12 4#S-2 vA -100 2.0 246.0
B15 B9 44 V+1 #A -650 502430 J6 J5 2#aDN-3 4Q -500 3.02450| K2 K8 3NS-2 8 -100 2.0 246.0
R10 R6 INDN-4 K -1100 0.02480| Tl T2 44DN-4 +Q -800 002480 I5 18 4v N-2 ¢A -100 2.0 246.0
B2 - 99.6 B2 - 99.6 B8 - 115.4
K9 - 122.8 K9 - 122.8 K9 - 122.8
- J7 113.7 - J7 113.7 - J7 113.7
- Q4 131.8 - Q4 131.8 - Q5 113.4
10 4109752 Basta kontrakt 11 482 Basta kontrakt 12 4 K3 Basta kontrakt
Ost v K1095 44 S =620 Syd vE9 5¢ S =400 Vast v EK763 44 V D -2 300
Alla + 864 Ingen ¢ D6542 NS + D62
L Y & ¢ v & NT #KKn92 & ¢ v & NT #E97 & ¢ v & NT
4KD4 43 N75795 4KKn54 4EDI0 N 11115 7 9 4DKn10942 4 E76 N 4 9 104 6
v 64 v DKn872 S7 6 7 106 vKD873 vKnl10642 S 11115 7 9 v10 v542 S 49 104 6
¢ ED753 ¢ Kn102 06 66 36 +103 ¢ Kn98g 02186 2 ¢ E8 4973 083386
*974 #KKn108 V666 36 +108 +D6 V218862 #Kn654 +D1083 V83386
4 EKn86 49763 485
vE3 v5 v DKn98
+ K9 ¢ EK7 ¢ KKn1054
#ED653 #E7543 *K2
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
O4 06 44 S+1 ¢A 650 2480 0.0 T6 T1 4¢DN+1 vJ 610 248.0 00| B1 B20 4v N+2 46 680 2400 8.0
12 13 44 S= ¢3 620 237.0 11.0| Q1 Q4 54DS= vK 550 2440 40| E2 E3 4vS+2 A 680 2400 8.0
T6 T1 44 N= vQ 620 237.0 11.0| B9 B13 54DS= &T 550 2440 40| D6 D1 680 240.0 8.0
E8 E10 44 S= ¢A 620 237.0 11.0|N10 N8 5#DS= vK 550 2440 40| B8 B23 4vy N+2 #3 680 240.0 8.0
08 02 44 N= #8 620 237.0 11.0|C13 C6 5vDV-3 &K 500 240.0 80| B9 B13 4v S+2 +¢A 680 2400 8.0
D10 D8 620 2370 11.0| L1 L14 3NN+2 v4 460 237.0 11.0| E9 E11 4vy N+2 #8 680 2400 8.0
N10 N8 44 N= vyQ 620 237.0 11.0| M9 M3 3NN+2 ¢4 460 237.0 11.0| H9 H4 4v S+2 ¢A 680 2400 8.0
P11 P5 44 S= v6 620 237.0 11.0| N3 N1 5#S= vK 400 227.0 21.0|R14 Rl 4v S+2 ¢A 680 2400 8.0
M14 M13 4 S= v4 620 237.0 11.0( R3 R10 5#S= vK 400 227.0 21.0|B17 B1l1 4y N+2 9 680 240.0 8.0
B16 B10 44 S= ¢7 620 237.0 11.0| K7 K6 5#S= vK 400 227.0 21.0| L1 L14 3NN+2 #3 660 230.0 18.0
B19 B6 44 S= v4 620 2370 110| P7 P6 5#S= vyK 400 227.0 21.0| C2 C9 4vy N+1 4A 650 175.0 73.0
01 09 3¢ V-4 #2 400 2260 220| M8 M4 5&S= vK 400 227.0 21.0( D2 D3 650 175.0 73.0
Ql Q8 3¢ V-3 42 300 2220 26.0| Q8 Q10 5#S= vK 400 227.0 21.0( M2 M10 4v N+1 «A 650 175.0 73.0
N9 N4 3¢ V-3 42 300 2220 26.0( H9 H4 54S= T 400 2270 21.0| O2 Ol 4vy N+1 #A 650 175.0 73.0
A10 Al13 4¢ V-3  #2 300 2220 26.0| J9 J4 5#S= vK 400 2270 21.0| R2 R17 4v N+1 A 650 175.0 73.0
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0-2 #A 200 216.0 32.0( 2 I3 4vDO-2 ¢K 300 2140 340| S2 S6 5v N= aA 650 175.0 73.0
V-2 2 200 216.0 32.0( D5 D7 300 2140 34.0| N3 N1 5v N= aA 650 175.0 73.0
V-2 #2 200 216.0 320( 19 14 4vDV-2 &2 300 2140 340| P3 P1 5v N= «A 650 175.0 73.0
S+3 v6 170 195.0 53.0(R15 R7 4vyDV-2 42 300 2140 340| R3 R10 4v N+1 46 650 1750 73.0
S+1 ¢v6 170 195.0 53.0 (M17 M12 4vDO-2 &A 300 214.0 34.0| B4 B14 4v N+1 &A 650 175.0 73.0
S+3 v6 170 195.0 53.0| b6 D1 210 208.0 40.0| D5 D7 650 175.0 73.0
N+1 v8 170 1950 53.0| E8 E4 INS+3 v8 180 206.0 42.0| E5 E12 4v S+1 A 650 175.0 73.0
170 195.0 53.0( M1 M11 4¢ N+2 ¢J 170 203.0 450| 15 17 4v N+1 &A 650 175.0 73.0

170 1950 53.0| M2 M10 4¢ S+2 ¢K 170 203.0 450| L5 L12 4vy N+1 #A 650 1750 73.0

S+1 v6 170 195.0 53.0( Bl B20 3#S+2 vQ 150 176.0 72.0| M5 M7 5v N= aA 650 175.0 73.0
N+1 8 170 1950 53.0| C2 C9 4¢ N+1 ¢J 150 176.0 720| O5 O7 5v N= aA 650 175.0 73.0
S+1 ¢A 170 1950 53.0( Q2 Q9 2#S+3 ¢vK 150 1760 720| R5 R4 4vy N+1 #A 650 1750 73.0
S+l v6 170 195.0 53.0| S2 S6 3#N+2 vJ 150 176.0 72.0( B6 B18 4v N+1 «A 650 175.0 73.0
S+2 v4 170 195.0 53.0( A3 A9 44 S+1 vK 150 176.0 72.0| G6 G4 4vy N+1 &A 650 1750 73.0
S+1 v6 170 1950 53.0( G3 G5 3¢ S+2 &T 150 176.0 72.0| 16 11 4v N+1 &3 650 1750 73.0
43 170 1950 53.0( P3 Pl 44S+1 ¢K 150 176.0 720| T6 T1 5v N= aA 650 175.0 73.0

#8 170 195.0 53.0( S3 S5 4#S+1 ¢vK 150 176.0 720| E7 E10 4y N+1 46 650 175.0 73.0

#4 170 195.0 53.0( E5 E12 44 S+1 T 150 176.0 720| J7 J6 4y N+1 #A 650 1750 73.0

170 1950 53.0| L5 L12 4#S+1 ¢K 150 176.0 72.0| K7 K6 4v
v3 170 1950 53.0| M5 M7 3#S+2 vK 150 176.0 72.0( L7 L10 4v 650 175.0 73.0
v6 170 1950 53.0| R5 R4 44S+1 vK 150 176.0 720| S7 S1 4v aA 650 175.0 73.0
¢A 140 1510 97.0( A8 A4 44 N+1 vJ 150 176.0 72.0| A8 A4 4vy N+1 #A 650 1750 73.0
¢A 140 151.0 97.0( E9 E11 4#S+1 ¢K 150 176.0 720| C8 C10 4vy N+1 A 650 175.0 73.0
¢A 140 1510 970 K9 K4 44 S+1 ¢vK 150 176.0 720| L8 L4 4¢vy N+1 #A 650 1750 73.0

aA 650 175.0 73.0
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S+1 v6 140 151.0 97.0|A10 A2 24 S+3 v6 150 176.0 72.0| M8 M4 4y N+1 &A 650 175.0 73.0
N = +J 140 151.0 97.0|F10 F8 3# S +2 +T 150 176.0 720| S8 S4 4v N+1 &A 650 175.0 73.0
S= v6 140 151.0 97.0|H10 H8 3& S +2 +T 150 176.0 72.0| D9 D4 650 175.0 73.0
N +1 v2 140 151.0 97.0|H11 H5 44 S+1 vQ 150 176.0 72.0| F9 F4 4vy N+1 &A 650 175.0 73.0
S+1 &9 140 151.0 97.0 | K11 K5 4& S+1 vK 150 176.0 72.0 19 14 49y N+1 &A 650 175.0 73.0
S= v6 140 151.0 97.0|N11 N5 3& S+2 45 150 176.0 72.0| J9 J4 4v N+1 &A 650 175.0 73.0
S= v6 140 151.0 97.0|B12 B19 2& S +3 T 150 176.0 72.0|B10 B15 4v N+1 &A 650 175.0 73.0
N+1 T 140 151.0 97.0|Q14 Q12 44 S +1 v3 150 176.0 72.0|F10 F8 5v N= A 650 175.0 73.0
N+1 «J 140 151.0 97.0|R14 R1 3& S+2 +T 150 176.0 72.0|H10 H8 4v N+1 &A 650 175.0 73.0
N = +J 140 151.0 97.0|M18 M6 44 S +1 vK 150 176.0 72.0|Al11 Al 4v N+1 «A 650 175.0 73.0
N = +J 140 151.0 97.0| C3 C7 44 S= vK 130 148.0 100.0 |C11 C15 4¥ N+1 9 650 175.0 73.0
N+1 «J 140 151.0 97.0| T9 T4 44 S= +T 130 148.0 100.0 |H11 H5 4v N+1 &4A 650 175.0 73.0
S= v6 140 151.0 97.0(C14 C12 2¢ S+2 vK 130 148.0 100.0 |P11 P5 4y N+1 &A 650 175.0 73.0
S+1 v6 140 151.0 97.0| E2 E3 4v O-2 +K 100 135.0 113.0 |H12 H2 4v N+1 &A 650 175.0 73.0
S+1 +5 140 151.0 97.0| O5 O7 4v O-2 &A 100 135.0 113.0|P12 P2 4vy N+1 &A 650 175.0 73.0
N = v2 140 151.0 97.0| G6 G4 4y O-2 +A 100 135.0 113.0|C13 C6 4vy N+1 &A 650 175.0 73.0
S+1 v6 140 151.0 97.0| N7 N6 3v V-2 8 100 135.0 113.0 |M13 M16 4v N+1 &A 650 175.0 73.0
S= v6 140 151.0 97.0| S8 S4 4vy V-2 &2 100 135.0 113.0 |C14 C12 4v N+1 &A 650 175.0 73.0
S= +A 140 151.0 97.0|K10 K8 4vDV-1 +2 100 135.0 113.0 [M15 M14 4y N+1 &A 650 175.0 73.0
N = +J 140 151.0 97.0|K12 K2 4v O -2 +A 100 135.0 113.0|R15 R7 4v¥ N+1 &A 650 175.0 73.0
N+1 ¢J 140 151.0 97.0|P12 P2 4y O-2 +A 100 135.0 113.0 |[M17 M12 4v¥ N+1 &A 650 175.0 73.0
N = +J 140 151.0 97.0 |[M13 M16 4v O -2 +A 100 135.0 113.0|M18 M6 4y N+1 4A 650 175.0 73.0
N = +J 140 151.0 97.0|R18 R9 4v O-2 +A 100 135.0 113.0|R18 R9 4v N+1 &#A 650 175.0 73.0
110 119.0 129.0| C1 C4 3v0O-1 ¢+A 50 105.0 143.0|B21 B7 4v¥ N+1 &A 650 175.0 73.0
N = ¢J 110 119.0 129.0( D2 D3 50 105.0 143.0(B22 B2 4vy N+1 #3 650 175.0 73.0
S+1 v4 110 119.0 129.0| Q3 Q7 4v V-1 48 50 105.0 143.0| C1 C4 4y N= &3 620 101.0 147.0
S= &7 110 119.0 129.0 I5 17 3v0O-1 ¢+A 50 105.0 143.0| F2 F3 4vy N= &8 620 101.0 147.0
S= 4K 110 119.0129.0( F6 F1 3v O-1 ¢+Q 50 105.0143.0( L2 L3 4y N= +9 620 101.0 147.0
S= v6 110 119.0 129.0| E7 E10 3v O-1 +K 50 105.0 143.0| T2 T3 4y S= «Q 620 101.0 147.0
V-1 &2 100 109.0 139.0| H7 H6 3v O-1 7 50 105.0 143.0| G3 G5 4y N= &3 620 101.0 147.0
0-1 46 100 109.0 139.0( L7 L10 3v O-1 ¢A 50 105.0143.0( H3 H1l 4v N= +9 620 101.0 147.0
V-1 &2 100 109.0 139.0| S7 S1 3v V-1 L Y 50 105.0 143.0| S3 S5 4y N= v4 620 101.0 147.0
0-1 +K 100 109.0 139.0| F9 F4 3v O-1 v5 50 105.0 143.0| O4 08 4vy N= +9 620 101.0 147.0
90 102.0 146.0| P9 P4 3v V-1 &2 50 105.0 143.0| B5 B16 4y N= &8 620 101.0 147.0
S= 7 90 102.0 146.0 |T1I0 T8 4v O-1 ¢+A 50 105.0 143.0| F6 Fl1 4y N= &3 620 101.0 147.0
S= &4 90 102.0 146.0 |[A11 Al 3v V-1 a2 50 105.0 143.0| H7 H6 4v N= v2 620 101.0 147.0
S= 4K 70 97.0 151.0 |C11 C15 3v O-1 ¢A 50 105.0 143.0| T9 T4 4y N= +3 620 101.0 147.0
S= +3 70 97.0 151.0|J11 J5 3v O-1 +K 50 105.0 143.0 |A10 A2 4y S= +A 620 101.0 147.0
V= »2 -90 94.0 154.0 |A12 A13 3v O-1 ¢+A 50 105.0 143.0|010 O6 4v N= v2 620 101.0 147.0
N-1 42 -100 71.0177.0(R12 R8 4v V-1 48 50 105.0 143.0|P10 P8 4v N= v2 620 101.0 147.0
N-1 *J -100 71.0 177.0|E13 E6 3v O-1 &5 50 105.0 143.0|J11 J5 4y S= «Q 620 101.0 147.0
S-1 v5 -100 71.0177.0|R13 R6 3v O-1 &A 50 105.0 143.0 |Q11 Q15 4v S= «Q 620 101.0 147.0
S-1 v6 -100 71.0 177.0|M15 M14 3v O-1 ¢A 50 105.0 143.0 |K12 K2 4v N= &8 620 101.0 147.0
S-1 v6 -100 710 1770 F2 F3 Pass 59.0 189.0|R12 R8 4v N= +9 620 101.0 147.0
S-1 v6 -100 71.0177.0| O2 O1 Pass 59.0 189.0 [R16 R11 4v N= 4A 620 101.0 147.0
N-1 *J -100 71.0 177.0| R2 R17 Pass 59.0 189.0 E1 E14 3NN= 46 600 79.0 169.0
N-1 *J -100  71.0 177.0( J3 J1 Pass 59.0 189.0| P7 P6 3NN= 47 600 79.0 169.0
N-1 *J -100 71.0 177.0| B4 B14 Pass 59.0 189.0 [N12 N2 54DV-2 ¢K 300 76.0 172.0
S-1 v3 -100 71.0177.0| O4 08 Pass 59.0 189.0| Q2 Q9 3v N+2 «A 200 70.0 178.0
S-1 ¢A -100 71.0177.0| F5 F7 Pass 59.0 189.0| J3 J1 3vy N+2 «A 200 70.0 178.0
N-1 +J -100 71.0 177.0( Q5 Q16 Pass 59.0 189.0| E8 E4 3vy N+2 &4A 200 70.0 178.0
S-1 ¢A -100 71.0 177.0 16 11 Pass 59.0 189.0| N9 N4 3v N+2 «A 200 70.0 178.0
S-1 v6 -100 71.0 1770 J7 J6 Pass 59.0 189.0 |D10 D8 200 70.0 178.0
S-1 v6 -100 71.0177.0| B8 B23 Pass 59.0 189.0 [N11 N5 3¢ S+2 vT 150 64.0 184.0
N-1 +J -100 71.0177.0| C8 C10 Pass 59.0 189.0| G2 G1 3¢ S+1 ¢T 130 61.0 187.0
N-1 T -100 71.0177.0| L8 L4 Pass 59.0 189.0| O9 O3 3¢ S+1 vT 130 61.0 187.0
S-1 *J -100 71.0 177.0| D9 D4 59.0 189.0 | M1 M11 44DV -1 ¢K 100 43.0 205.0
S-1 v4 -100 71.0177.0| L9 L11 Pass 59.0 189.0| C3 C7 44DV-1 vA 100 43.0 205.0
S-1 v6 -100 71.0 177.0( O9 O3 Pass 59.0 189.0| F5 F7 44DV-1 vA 100 43.0 205.0
N -1 *J -100 71.0 177.0 |B10 B15 Pass 59.0 189.0 | Q5 Q16 44DV-1 vA 100 43.0 205.0
N-1 *J -100 71.0 177.0|D10 D8 59.0 189.0| T5 T7 44DV-1 vA 100 43.0 205.0
V+1 2 -130 48.0 200.0( 110 I8 Pass 59.0 189.0| N7 N6 44DV-1 vA 100 43.0 205.0
N -2 +J -200 36.0 212.0 (010 O6 Pass 59.0 189.0| Q8 Q10 44DV-1 vA 100 43.0 205.0
N -2 ¢+J -200 36.0 212.0 (P10 P8 Pass 59.0 189.0| L9 L11 44DO-1 vQ 100 43.0 205.0
N -2 *J -200 36.0 212.0 ([Q11 Q15 Pass 59.0 189.0| M9 M3 44DV-1 vA 100 43.0 205.0
S-2 v6 -200 36.0 212.0|J12 J2 Pass 59.0 189.0 [N10 N8 44DV-1 vA 100 43.0 205.0
DN-1 ¢Q -200 36.0 212.0|R16 R11 Pass 59.0 189.0 | T10 T8 44DV-1 vA 100 43.0 205.0
N -2 *J -200 36.0 212.0 |[B21 B7 Pass 59.0 189.0 |K11 K5 44DV-1 vA 100 43.0 205.0
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K11 K5 44 S-2 v6 -200 36.0 212.0|B22 B2 Pass 59.0 189.0 |B12 B19 44DV-1 vA 100 43.0 205.0
J12 J2 34 S-2 v6 -200 36.0212.0| E1 E14 54 S-1 vK -50 27.0 221.0|J12 J2 44DV-1 vA 100 43.0 205.0
N12 N2 34 S-2 v6 -200 36.02120| L2 L3 44 S-1 vK -50 27.0 221.0|A14 A6 44DV-1 vA 100 43.0 205.0
R14 R12 44DN-1 #T -200 36.0 2120 N9 N4 5#S-1 vK -50 27.0 221.0 |Q14 Q12 44DV-1 vA 100 43.0 205.0
Qle Q4 34 S-2 v6 -200 36.0 212.0|H12 H2 5& S-1 vQ -50 27.0 221.0| A3 A9 4a V-1 vA 50 23.0 225.0
Cl C8 44 N-3 ¢J -300 17.0 231.0 (N12 N2 5#S-1 vK -50 27.0 221.0| C5 C16 4e V-1 vA 50 23.0 225.0
J3 J1 34S-3 v6 -300 17.0231.0|L13 L6 24 S-1 *T -50 27.0 221.0|L13 L6 44 V-1 vA 50 23.0 225.0
S8 S4 34#S-3 v4 -300 17.0231.0| T2 T3 6#S-2 vK -100 20.0 228.0|R13 R6 44 V-1 vA 50 23.0 225.0
F9 F4 44 N-3 ¢+J -300 17.0231.0( C5 C16 2v O= ¢A -110 16.02320( Q1 Q4 5vS-1 «Q -100 12.0 236.0
L12 L14 3NS-3 3 -300 17.0231.0( T5 T7 2v V= 8 -110 16.0 2320 2 I3 3NN-1 4A -100 12.0 236.0
R13 R5 3#S-3 v4 -300 17.0 231.0|P11 P5 2v O= ¢A -110 16.0 2320 Q3 Q7 5v S-1 ¢A -100 12.0 236.0
R15 R6 3# S-3 v6 -300 17.0231.0| G2 Gl 3v V= 42  -140 7.0 2410 A5 A7 5vS-1 K -100 12.0 236.0
R17 R1 2#S-3 v6 -300 17.0 231.0| A5 A7 3v V= 48 -140 7.0 2410 K9 K4 5v S-1 «Q -100 12.0 236.0
E1l E2 34DS-2 v6 -500 4.0 2440| B5 B16 2v O+1 ¢A -140 7.0 241.0 K10 K8 5¢ S-1 4Q -100 12.0 236.0
H7 H6 44DS-2 v6 -500 4.0 2440| B6 B18 2vy O+1 ¢A -140 7.0 241.0 [A12 A13 3NN-1 A -100 12.0 236.0
S7 S1 44DN-2 vQ -500 4.0 2440 |A14 A6 3v V= 48 -140 7.0241.0( P9 P4 24 V+1 vA -140 3.0 245.0
P10 P8 44DS-2 v6 -500 4.0 244.0 |B17 B11 3v O = ¢A -140 7.0 2410 |[E13 E6 24 V+1 ¢K -140 3.0 245.0
L13 L5 3#DS-2 v6 -500 4.0 2440| H3 Hl 44 S-4 vK -200 0.0 248.0| 110 18 3NN-3 A -300 0.0 248.0
- Kl 121.9| B3 - 127.0 B3 - 127.0
B8 - 115.4 - Kl 121.9 - Kl 121.9
- J8 126.6 - J8 126.6 - J8 126.6
- Q5 1134 - Q6 79.4 - Q6 79.4
13 & K982 Basta kontrakt 14 # 10976 Basta kontrakt 15 & K875 Basta kontrakt
Nord v DKn106 34 N =140 Ost v KD85 4v O =-420 Syd v Kn94 3NT S =600
Alla ¢ 104 Ingen + D842 NS ¢ E43
#976 & ¢ v & NT *5 & ¢ v & NT +Kn64 & ¢ v & NT
~E6 D7 N6 9598 # EK3 « Kn8 N23 354 4 D432 #E9 N7 88 809
vEK98753 v42 S6 9598 vE942 vKnl03 S23354 v102 vD753 S78899
¢ 87 ¢ EK62 07 4835 ¢+ K ¢ E7653 O 119 108 9 4875 ¢ KKn96 O55 4 4 4
»82 #D10543 V74835 #D9874 #EK3 vV 119 108 9 D972 #E103 V55444
& Kn10543 & D542 4« Kn106
v- v76 v EK86
+ DKn953 + Kn109 + D102
#EKKn #Kn1062 #K85
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
M10 M4 34DS+1 vA 930 2480 00| S4 S6 6NV-5 T 250 248.0 0.0 M4 M12 14RDN+1#3 1120 248.0 0.0
N1l N6 5¢DV-3 ¢T 800 2440 40| C1 C14 3NV-2 46 100 239.0 9.0(M11 M5 24DO-4 ¢A 800 246.0 20
Cl12 C15 5vDV-3 &K 800 244.0 4.0| D1 D10 . 100 239.0 9.0(B12 B17 3NN= +9 600 2440 4.0
El14 E2 5¢vDV-3 48 800 2440 40| P1 P10 6NO-2 ¢J 100 239.0 9.0(E13 E8 14aDN+1 ¥3 360 2420 6.0
N1 N10 44DS= vA 790 238.0 100 G6 G5 3NV-2 T 100 239.0 9.0 C3 C6 INDV-2 &5 300 2390 9.0
R6 R5 44DS= vA 790 238.0 10.0| L8 L11 3NV-2 49 100 239.0 9.0(K11l K6 24DV-2 43 300 239.0 9.0
J9 J5 44DS= <vA 790 2380 10.0| H9 H5 3NV-2 T 100 239.0 90 O4 O3 INS+3 &7 180 229.0 19.0
Bl B19 44 S= vA 620 226.0 22.0|J11 J6 5% V-2 4T 100 239.0 90| A5 A1l 2NN+2 &A 180 229.0 19.0
11 110 44 S= 8 620 226.0 22.0|E14 E2 3NV-2 47 100 239.0 9.0 D6 D8 180 229.0 19.0
M1 M13 4e S= vA 620 2260 22.0| H1 H10 3NV-1 vK 50 2100 38.0| M7 M9 INS+3 T 180 229.0 19.0
P4 P2 44 N= v4 620 2260 22.0| C3 C10 3NO-1 46 50 210.0 38.0| Q7 Q16 INS+3 ¢T 180 229.0 19.0
O5 09 44 S= vK 620 2260 220| F3 F4 3NV-1 T 50 210.0 38.0( J8 J7 INS+3 ¢T 180 229.0 19.0
A6 A8 44 S= vA 620 2260 22.0| A4 A10 3NV-1 4T 50 210.0 380( P8 P7 INN+3 ¢6 180 229.0 19.0
G6 G5 44 S= vA 620 2260 22.0| O6 0O8 5& V-1 «5 50 210.0 38.0(J12 J3 INS+3 ¢T 180 229.0 19.0
E8 E1l 44 S= 8 620 226.0 22.0| E8 E11l 4v V-1 «5 50 210.0 38.0( H1 H10 3# V-3 v4 150 205.0 43.0
T9 T5 44 S= vA 620 2260 220| J8 J7 3NV-1 4T 50 210.0 380| S1 S2 INS+2 &2 150 205.0 43.0
Tl T10 4¢vDV-2 T 500 2100 38.0| P8 P7 3NV-1 «5 50 2100 380 C2 C14 INS+2 T 150 205.0 43.0
H4 H2 5¢vDV-2 &K 500 210.0 38.0| S8 S5 3NV-1 v5 50 2100 38.0| Q2 Q14 INS+2 T 150 205.0 43.0
P8 P7 4¢vDV-2 43 500 2100 380 19 I5 4v V-1 #5 50 2100 380( F3 F4 INS+2 #Q 150 205.0 43.0
H9 H5 5vDV-2 2 500 210.0 38.0(L10 L12 3NV-1 47 50 2100 380 G3 G2 2v O-3 «J 150 205.0 43.0
L10 L12 4¢vDV-2 48 500 210.0 38.0 (010 O7 3NV-1 ¢4 50 210.0 38.0| K4 K2 INS+2 &2 150 205.0 430
H12 H3 4¢vDV-2 ¢T 500 210.0 38.0|N11 N6 4v O-1 «J 50 2100 380| T6 T8 INS+2 42 150 205.0 43.0
Al4 A7 5vDV-2 48 500 210.0 38.0(N12 N3 6% V-1 vK 50 2100 380| O7 09 INS+2 &8 150 2050 43.0
B4 B13 5v V-3 42 300 202.0 46.0 (P12 P3 5#V-1 ¢2 50 210.0 38.0( K8 K7 3¢ V-3 #3 150 205.0 43.0
Ol O4 4vDV-1 vQ 200 1750 73.0|C13 C7 5#V-1 «5 50 210.0 380| R8 R13 INS+2 &Q 150 205.0 43.0
P1 P10 4v O-2 48 200 175.0 73.0(Al4 A7 3NO-1 44 50 2100 380(L10 L6 INS+2 42 150 205.0 43.0
S1 S2 4vDV-1 42 200 175.0 73.0(B18 B12 4v V-1 «5 50 210.0 38.0(M10 M6 INS+2 &2 150 205.0 43.0
C2 C5 4vDV-1 48 200 175.0 73.0|M18 M7 3NV-1 T 50 210.0 38.0(H11 H6 2#V-3 v9 150 205.0 43.0
Q2 Q5 4vDV-1 48 200 1750 73.0(R18 R10 3NV-1 4T 50 2100 38.0(R17 R4 INS+2 &7 150 205.0 43.0
F3 F4 4v V-2 48 200 175.0 73.0(B22 B8 4v V-1 «5 50 210.0 38.0(M18 M8 3# V-3 vJ 150 205.0 43.0
C4 C8 4v V-2 42 200 175.0 73.0( H8 H7 INV+l1 T -120 188.0 60.0| Tl T10 3v S= «Q 140 184.0 64.0
G4 Gl 4¢vDV-1 48 200 175.0 73.0( I1 110 3¢ O+1 v6 -130 183.0 65.0| M3 M13 24 N+1 #A 140 184.0 64.0
J4 J2 4vyDV-1 T 200 175.0 73.0| D3 D4 -130 183.0 65.0| H9 H5 2v S+1 &2 140 184.0 64.0
K4 K2 440 -2 ¢+Q 200 175.0 73.0( B5 B15 2#V+2 ¢vK -130 183.0 65.0|Q15 Q1 2¢v S+1 &7 140 184.0 64.0
Q4 Q8 4¢vDV-1 48 200 1750 73.0( B6 B1l7 44 V= v5 -130 183.0 65.0|B20 B2 34 N= 3 140 184.0 64.0
B5 B15 4v V-2 42 200 1750 73.0| K4 K2 3v V= T -140 177.0 71.0| 11 110 2NS= +8 120 159.0 89.0
M6 M8 4v V-2 ¢T 200 175.0 73.0(J12 J3 2vV+1 T -140 177.0 710| P1 P10 INS+1 &7 120 159.0 89.0
D7 D2 200 175.0 73.0(R15 R8 2#V+3 &7 -150 1740 74.0| D3 D4 120 159.0 89.0
T7 T2 4v V-2 vQ 200 1750 73.0|A11 A3 1vV+3 &5 -170 1720 760 T3 T4 2NS= #7 120 159.0 89.0
L8 L11 5v V-2 8 200 1750 73.0| M1 M13 3NV= T -400 141.0 107.0( C4 C11 2NN= 6 120 159.0 89.0
N8 N7 3vDV-1 ¢A 200 175.0 73.0( O1 O4 3NV= T -400 141.01070( E4 E5 INS+1 &2 120 159.0 89.0
D9 D5 200 175.0 73.0( S1 S2 3NO= v7 -400 141.0 107.0| Q4 Q11 2NS= &2 120 159.0 89.0
E9 E5 4vDV-1 42 200 1750 73.0( B2 B21 3NV= vK -400 141.0 107.0| R5 R12 INS+1 &7 120 159.0 89.0
M9 M5 4v V-2 49 200 1750 73.0| Q2 Q5 5#V= T -400 141.0107.0f A7 A9 INS+1 8 120 159.0 89.0
Q9 Q11 4¢vDV-1 T 200 1750 73.0( L3 L4 3NV= v5 -400 141.0 107.0| C7 C16 INS+1 &7 120 159.0 89.0
K1l K6 4vDV-1 8 200 175.0 73.0| M3 M11 3NO = ¢J -400 141.0 107.0( D7 D2 120 159.0 89.0
N12 N3 4v V-2 49 200 175.0 73.0( Q3 Q10 3NO= 42 -400 141.0107.0| S8 S5 INS+1 42 120 159.0 89.0
L14 L2 4y V-2 48 200 1750 73.0| S3 S7 3NV= T -400 141.0 1070 K9 K5 INS+1 &7 120 159.0 89.0
Cl6 C6 4y V-2 48 200 1750 73.0| G4 Gl 3NV= T -400 141.0107.0(E11 E1 INS+1 8 120 159.0 89.0
B23 B3 5v V-2 ¢4 200 1750 73.0| J4 J2 3NV= T -400 141.0 107.0(P12 P3 INS+1 8 120 159.0 89.0
I3 14 34 S+1 vK 170 144.0 104.0| N4 N2 3NV= 42 -400 141.0 107.0(L14 L3 INS+1 T 120 159.0 89.0
E6 E1 34 S+1 vA 170 144.0 104.0| A6 A8 3NO= v3 -400 141.0 107.0|R14 R3 INS+1 &2 120 159.0 89.0
H8 H7 24 S+2 v3 170 14401040 F6 F8 3NO= ¢J -400 141.0 107.0(C15 C1 INS+1 &7 120 159.0 89.0
E13 E7 34 S+1 vA 170 144.0 1040| T6 T8 3NV= T -400 141.0 107.0(R15 R9 INN+1 &#A 120 159.0 89.0
R14 R2 34 S+1 vA 170 1440 104.0| D7 D2 -400 141.0 107.0 |[R16 R1 2N S= 2 120 159.0 89.0
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C3 C10 34 S= vA 140 127.0 121.0| D9 D5 -400 141.0 107.0| Bl B18 24 N= 3 110 126.0 122.0
03 02 34 S= vA 140 127.0121.0| J9 J5 3NV= ¢2 -400 141.0 107.0| B3 B22 24 N= ¢6 110 126.0 122.0
S4 S6 34 S= vK 140 1270 121.0| M9 M5 3NV = 46 -400 141.0 107.0| S3 S7 2v S= v2 110 126.0 122.0
B6 B17 34 S= v2 140 127.0 121.0| N9 N5 3NO= 6 -400 141.0 107.0( H4 H2 24 N= ¢6 110 126.0 122.0
16 18 34 S= vA 140 127.0 1210 T9 T5 3NV= vK -400 141.0 107.0| S4 S6 2v S= +8 110 126.0 122.0
06 08 34 S= 2 140 127.0 121.0 ({B10 B14 3NO= 9 -400 141.0 107.0( B7 B19 2v S= +8 110 126.0 122.0
A9 A5 34 S= vK 140 127.0 121.0 |H11 H6 3NV= 46 -400 141.0 107.0( T7 T2 24 N= 4A 110 126.0 122.0
Al2 A2 34 S= vA 140 127.0 121.0|K11 K6 3NO= 44  -400 141.0 107.0( N8 N7 24 N= #A 110 126.0 122.0
Q12 Q15 34 N= v4 140 1270 121.0(P11 P6 3NV= v5 -400 141.0 107.0|C10 C12 24 N= 3 110 126.0 122.0
R15 R8 34 S= vA 140 127.0 121.0|H12 H3 3NO= ¢T -400 141.0 107.0 ([B11 B15 2v S= 5 110 126.0 122.0
B20 B7 34 N= v4 140 127.0 121.0 |M14 M17 3N O = 45 -400 141.0 107.0 [N11 N6 24 N= A 110 126.0 122.0
B22 B8 34 N= vA 140 127.0 121.0|Cl6 C6 3NV = vK -400 141.0 107.0|A1l3 A3 2y N= 5 110 126.0 122.0
R7 R13 24 S= vA 110 114.0 134.0|Q16 Q6 3NV= vK -400 141.0 107.0(C13 C8 2v S= 5 110 126.0 122.0
Cl Cl14 4v V-1 4K 100 88.0 160.0 [R17 R3 3NV= ¢4 -400 141.0 107.0 | M2 M14 2¢ O -2 vA 100 107.0 141.0
F1 F10 4v V-1 42 100 88.0 160.0| 16 18 4v V= #5 -420 108.0 1400( 17 12 INO-2 v6 100 107.0 141.0
H1 H10 4v V-1 42 100 88.0 160.0| K9 K5 4v V= 4T -420 108.0 140.0( L7 L2 INO-2 4J 100 107.0 141.0
B2 B21 4v V-1 +T 100 88.0 160.0 [ L13 L7 4v V= vA -420 108.0 140.0| L9 L12 2& V-2 v4 100 107.0 141.0
L3 L4 4v V-1 4K 100 88.0 160.0| B1 B19 3NV+1 44 -430 65.0183.0| T9 T5 INDV-1 &5 100 107.0 141.0
M3 M11 4v V-1 42 100 88.0 160.0| F1 F10 3NO+1 44 -430 65.0 183.0|M15 M1l 3# V-2 44 100 107.0 141.0
Q3 Q10 4v V-1 42 100 88.0 160.0 | N1 N10 3NO+1 &2 -430 65.0183.0| A1 A2 INS= &7 90 78.0 170.0
S3 S7 4v V-1 42 100 88.0 160.0 | Q1 Q14 3NO+1 44 -430 65.0 183.0( D1 D10 90 78.0 170.0
R4 R11 4y V-1 4K 100 88.0160.0| R1 R9 3NO+1 42 -430 65.0183.0| K1 K10 INS= 7 90 78.0 170.0
F6 F8 3v V-1 +T 100 88.0 160.0| C2 C5 3NO+1 &2 -430 65.0183.0| O2 O5 INS= +8 90 78.0 170.0
T6 T8 4v V-1 42 100 88.0 160.0 | M2 M12 3NV +1 T -430 65.0183.0| R2 R10 INS= 43 90 78.0 170.0
F7 F2 4v V-1 4K 100 88.0 160.0| E3 E4 3NV+1 v5 -430 65.0183.0| Q3 Q6 INS= 42 90 78.0 170.0
J8 J7 4v V-1 4K 100 88.0 160.0| G3 G2 3NO+1 42 -430 6501830 G4 Gl INS= +8 90 78.0 170.0
S8 S5 4v V-1 4K 100 88.0 160.0| 13 14 3NO+1 42 -430 650 183.0( N4 N2 INN= 6 90 78.0 170.0
P9 P5 4v V-1 4K 100 88.0 160.0| O3 02 3NO+1 44 -430 65.0183.0| G6 G5 INS= 2 90 78.0 170.0
B10 B14 4v V-1 ¢4 100 88.0 160.0| T3 T4 3NO+1 42 -430 6501830 O6 Ol INS= 5 90 78.0 170.0
E10 E12 4v V-1 4K 100 88.0 160.0| B4 B13 3NO+1 42 -430 65.0183.0| E7 E2 INS= &7 90 78.0 170.0
All A3 3v V-1 +T 100 88.0 160.0| C4 C8 3NO+1 44 -430 65.0183.0| H8 H7 INS= +8 90 78.0 170.0
B11l B16 4v V-1 «9 100 88.0 160.0| H4 H2 3NO+1 42 -430 65.0183.0| E9 E12 INS= 9 90 78.0 170.0
J12 J3 4v V-1 48 100 88.0 160.0| Q4 Q8 3NO+1 &4 -430 65.01830| 19 I5 INS= 2 90 78.0 170.0
P12 P3 4v V-1 42 100 88.0 160.0| R4 R11 3NV+l1 ¢5 -430 65.0 183.0(A10 A6 INS= 7 90 78.0 170.0
Cl13 C7 4v V-1 4K 100 88.0 160.0| D6 D8 . -430 65.0 183.0|E10 E6 INS= 2 90 78.0 170.0
Q16 Q6 3v V-1 48 100 88.0 160.0| E6 E1 3NO+1 42 -430 650 183.0(010 O8 INN= 6 90 78.0 170.0
B18 B12 4v V-1 42 100 88.0 160.0| R6 R5 3NO+1 7 -430 65.0183.0|J11 J6 INS= 2 90 78.0 170.0
M18 M7 4y V-1 42 100 88.0 160.0| F7 F2 3NO+1 44 -430 65.0 183.0(Al2 A4 INS= 7 90 78.0 170.0
R1 R9 44 S-1 vA -100 51.01970| 17 12 BNO+1 &2 -430 65.0 183.0|/A14 A8 INS= &7 90 78.0 170.0
M2 M12 44 S-1 vA -100 51.0197.0| T7 T2 3NO+1 &2 -430 65.0183.0(E14 E3 INS= 5 90 78.0 170.0
D6 D8 -100 51.0 197.0( N8 N7 3NV+1 ¢5 -430 65.0 183.0(M17 M16 INS= 2 90 78.0 170.0
K8 K7 44 N-1 ¢A -100 51.0197.0( A9 A5 3NO+1 44 -430 65.0183.0|B23 B9 INS= 2 90 78.0 170.0
C9 C11 44 S-1 vA -100 51.01970| C9 C11 3NV+l1 v8 -430 65.0183.0| F6 F8 1a N= 6 80 54.0 194.0
19 I5 44 S-1 vyA -100 51.0197.0( E9 E5 3NO+1 #6 -430 65.0183.0| F1 F10 2# V-1 ¢A 50 51.0 197.0
K9 K5 34 S-1 vK -100 5101970 L9 L5 3NV+1l 47 -430 650183.0(|L13 L8 INO-1 6 50 51.0 197.0
010 O7 44 S-1 vA -100 51.0197.0| Q9 Q11 3NO+1 42 -430 65.0183.0| L4 L5 2#V= a5 -90 48.0 200.0
H1l H6 44 S-1 vA -100 51.0 197.0 (E10 E12 3NO+1 42 -430 65.0183.0| N1 N10 2NS-1 8 -100 33.0 215.0
J11 J6 44 S-1 vyA -100 51.0 197.0(M10 M4 3NO+1 42 -430 65.0183.0| B5 B14 2v S-1 +8 -100 33.0 215.0
Al3 Al 44 S-1 vA -100 51.0197.0(B11 B16 3NO+1 44 -430 65.0183.0| 16 18 3NN-1 ¢6 -100 33.0 215.0
L13 L7 44 S-1 vA -100 51.0 197.0(C12 C15 3NO+1 44 -430 65.01830| F7 F2 INN-1 ¢6 -100 33.0 215.0
D3 D4 -140  31.0 217.0 [Q12 Q15 3NO+1 42 -430 65.0183.0| R7 R6 2v N-1 43 -100 33.0 215.0
E3 E4 3v V= 4K -140 31.0 217.0(A13 Al 3NO+1 42 -430 65.01830( F9 F5 INS-1 «2 -100 33.0 215.0
17 12 3vV= ¢4 -140 31.0217.0(L14 L2 3NO+1 2 -430 65.0183.0| J9 J5 2NS-1 2 -100 33.0 215.0
F9 F5 3v V= 4A  -140 31.0217.0|R14 R2 3NV+l1 vQ -430 65.0183.0(Q10 Q12 2v S-1 «7 -100 33.0 215.0
L9 L5 3v V= 49 -140 31.0 217.0(M16 M15 3NO+1 42 -430 65.01830(L11 L1 2NS-1 «7 -100 33.0 215.0
P11 P6 3v V= 42 -140 31.0 217.0|R16 R12 3NO+1 44 -430 65.0 183.0 (P11 P6 3NN-1 9 -100 33.0 215.0
M14 M17 3v V= 4K -140 31.0217.0|B23 B3 3NO+1 42 -430 65.0 183.0(R11 R18 24 N-1 v3 -100 33.0 215.0
R17 R3 3v V= 4K -140 31.0 217.0( K1 K10 3NO+2 &J -460 12.0 236.0|H12 H3 INS-1 «2 -100 33.0 215.0
D1 D10 -200 14.0 234.0( T1 T10 3NV+2 47 -460 12.0 236.0(N12 N3 2v S-1 8 -100 33.0 215.0
K1 K10 44 S-2 vyA -200 14.0234.0( P4 P2 3NO+2 42 -460 12.0236.0|/B21 B8 2v S-1 «2 -100 33.0 215.0
Q1 Q14 44DS-1 vA -200 1402340| O5 09 3NO+2 &6 -460 12.0236.0| 13 14 3vS-2 2 -200 15.0 233.0
G3 G2 54 S-2 vyA -200 14.02340( L6 L1 3NO+2 #2 -460 12.0236.0| Q5 Q9 INS-2 &2 -200 15.0 233.0
T3 T4 44DN-1 ¢A -200 14.02340| M6 M8 3NO+2 42 -460 12.0236.0| D9 D5 -200 15.0 233.0
N4 N2 44DS-1 &8 -200 14.02340| R7 R13 3NO+2 42 -460 12.0236.0] N9 N5 INS-2 «7 -200 15.0 233.0
L6 L1 44DS-1 vK -200 14.0234.0| K8 K7 3NO+2 &J -460 12.0236.0( P4 P2 4v S-3 &7  -300 7.0 241.0
N9 N5 34 S-2 vA -200 1402340 F9 F5 3NO+2 &6 -460 12.0236.0| C5 C9 34 N-3 «A  -300 7.0 241.0
M16 M15 54 S -2 vA -200 1402340| P9 P5 3NO+2 &6 -460 12.0236.0| P9 P5 34 N-3 «A  -300 7.0 241.0
R16 R12 44DS-2 vA -500 4.0 2440 |A12 A2 3NO+2 «2 -460 12.0 236.0(B10 B13 3v S-3 43 -300 7.0 241.0
A4 A10 4v V= 42 -620 2.0 246.0 ([E13 E7 3NV+2 ¥8 -460 12.0236.0| J4 J2 24 N-4 v5 -400 1.0 247.0
R18 R10 3vyDV= «¢T -730 0.0 248.0|B20 B7 3NV +2 v5 -460 12.0 236.0| B6 B16 2N S-4 «2  -400 1.0 247.0
Ji - 143.0 Ji - 143.0 J1 - 143.0
B9 - 153.8 B9 - 153.8 K12 - 113.5
K12 - 1135 K12 - 113.5 - Q8 124.0
- Q7 135.3 - Q7 135.3 - B4 101.6
16 & EK872 Basta kontrakt 17 4 D94 Basta kontrakt 18 432 Basta kontrakt
Vast v K875 5NT N =460 Nord v 8763 5¢ O =-400 Ost v Kn93 54 O =-450
oV ¢ EK Ingen ¢ 107 NS + K1073
64 & ¢ v & NT 10843 & ¢ v & NT D963 & ¢ v & NT
4903 4 Kn105 N9 7 111111 & K7532 48 N515 414 4 ED764 4Knl085 N45304
vD109 vKn43 S 97 111111 v2 v EKKn4 S515 44 vE5 v K8764 S 45304
49653 ¢Kn10742 0O 3 5 2 2 2 ¢ EDKn543 ¢ K92 08 118 9 9 +85 464 O9 6 10118
#Knl1072 #KD V35222 &K #Kn9752 vV 8 117 9 9 #EKKN8 #52 V 9 6 10118
« D64 # EKn106 4 K9
vE62 v D1095 v D102
+D8 + 86 + EDKn92
#E9853 »ED6 »1074
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
M2 M14 64 N = #K 980 247.0 10| C6 C10 44 V-4 v3 200 2480 0.0| A2 A3 44 V-1 ¢K 50 247.0 1.0
N7 N11 64 N= K 980 247.0 1.0| M3 M15 3NV-3 8 150 246.0 20| N9 N6 4v V-1 ¢A 50 247.0 1.0
J5 J3 44 N+2 ¢J 480 2440 4.0| T2 T10 5¢ V-2 7 100 243.0 50| P7 P11 2¢ S-1 #A -100 244.0 4.0
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Q9 64 N- &K -50 49.0 199.0| D2 D10 -430 41.0 207.0| T8 T3 44 V+1 ¢K -450 68.0 180.0
R12 6N S - +5 -50 49.0 199.0| R3 R11 3NV +1 v8 -430 41.0207.0| T9 T6 44 V+1l 7 -450 68.0 180.0
Ol 64 N- *K -50 49.0 199.0| E4 E14 3NO+1 &J -430 41.02070(L10 L1 4e4V+l 7 -450 68.0 180.0

11 64 N - *4 -50 49.0 199.0| F4 F5 3NO+1 v9 -430 41.0207.0(E11 E7 44 V+l 7 -450 68.0 180.0
M9 64 N - *K -50 49.0199.0| 14 15 3NO+1 #6 -430 41.0207.0(L11 L7 44 V+1l K -450 68.0 180.0
P11 64 N - 2 -50 49.0 199.0| R4 R14 3NV+1 &4 -430 41.0207.0(E12 E2 44 V+l ¢K -450 68.0 180.0
Q16 64 N - &K -50 49.0 199.0| S4 S1 3NO+1 5 -430 41.0207.0(M12 M6 44 V+1 3 -450 68.0 180.0
R13 64 N - &K -50 49.0 199.0| E5S5 E6 3NV+1 T -430 41.0207.0(B13 B5 44 V+l1 43 -450 68.0 180.0
K6 6N S - +5 -50 49.0199.0| J5 J3 3NO+1 8 -430 41.0207.0(C13 C9 44 V+l 42 -450 68.0 180.0
Cl2 64 N - &K -50 49.0 199.0| A6 Al12 3NV+1l &4 -430 41.0207.0(Cl4 C3 44 V+l 7 -450 68.0 180.0
O8 64 N - &K -50 49.0199.0| F7 F1 3NO+1 46 -430 41.0207.0(Q14 Q3 44 V+l 7 -450 68.0 180.0
M5 64 N - *4 -50 49.0 199.0| J7 Ji1 3NO+1 3 -430 41.0207.0(Q15 Q2 44 V+1l ¢7 -450 68.0 180.0
J4 64 N - &K -50 49.0 199.0| F8 F3 3NO+1 46 -430 41.0207.0(R15 R10 44 V+1 T -450 68.0 180.0
Cl 64 N- *J -50 49.0 199.0| M8 M10 3NO+1 T -430 41.0207.0(M16 M2 44 V+1 ¢K -450 68.0 180.0
Ql 64 N- +J -50 49.0 199.0|L10 L1 3NO+1 8 -430 41.0207.0(Q16 Q8 44 V+1 ¢7 -450 68.0 180.0
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B9 Ge &K -50 49.0 199.0 |Al1 A7 3NV+l1 «Q -430 41.0207.0/R16 R2 44 V+1 ¢7 -450 68.0 180.0
B18 64 N- ¢2 -100 13.0 235.0|K12 K4 3NO+1 v9 -430 41.0207.0M18 M9 44 V+1 43 -450 68.0 180.0
H8 74 N - «K -100 13.0 235.0(C13 C9 3NO+1 46 -430 41.0207.0(B21 B3 44 V+1 ¢K -450 68.0 180.0
110 6N S - ¢9 -100 13.0 235.0|E13 E9 3NO+1 v5 -430 41.0207.0{B22 B9 44 V+1 3 -450 68.0 180.0
N10 64 N - 45 -100 13.0 235.0|R15 R10 3NO+1 46 -430 41.0207.0( P1 P8 44 V+2 &6 -480 14.0234.0
S3 64 N - &6 -100 13.0235.0| F2 F10 3NV +2 44 -460 1402340 H5 H3 44 V+2 ¢3 -480 14.0 234.0
F5 64 N - ¢J -100 13.0235.0| C4 C7 3NV+2 44 -460 14.0234.0| F7 F1 44 V+2 &3 -480 14.0 234.0
C16 64 N- ¢2 -100 13.02350| H5 H3 3NV+2 49 -460 14.0 2340 A8 A10 44 O+2 5 -480 14.0 2340
J11 64 N- «K -100 13.0 235.0( P7 P11 3NO+2 &J -460 14.0 2340 (K12 K4 44 V+2 ¢7 -480 14.0 234.0
L2 74 N- #K -100 13.0235.0|C15 C2 3NO+2 46 -460 14.0234.0(R13 R9 44 V+2 &3 -480 14.0 234.0
09 64 N - K -100 13.0 235.0(R17 R5 1#RDO+2¢8 -630 8.0 240.0 [Al4 A9 44 V+2 ¢2 -480 14.0 234.0
H6 74 N- «K -100 13.0 235.0( K9 K6 5¢DV+l1 v8 -650 6.0 2420 N1 N8 44 V+3 «2 -510 3.0 245.0
A4 6e N - #K -100 13.0 2350|010 09 5¢DV+2 v6 -750 4.0 2440 N2 N10 44 V+3 42 510 3.0 245.0
H4 64 N - #K -100 13.0 235.0|C14 C3 14DS-4 v2 -800 2.0 246.0| S2 S3 44 V+3 42 -510 3.0 245.0
R3 64 N - «K -100 13.0 235.0( O7 O2 4vDN-6 48 -1400 0.0 248.0(L13 L9 44 V+3 &3 -510 3.0 245.0
- 148.7 J2 - 148.7 J2 - 148.7
- 126.5 K5 - 126.5 K5 - 126.5
Q8 124.0 - Q9 129.3 - Q9 129.3
B4 101.6 - B10 106.8 - B10 106.8
a5 Basta kontrakt 20 #1052 Basta kontrakt 21 46 Basta kontrakt
v K754 34 V =-140 Vast v 62 3v V =-140 Nord v KD9865 5¢ OD-3500
¢ EKD5 Alla + D1053 NS ¢ Kn8
#DKn63 & ¢ v & NT #D853 & ¢ v & NT *E764 & ¢ v & NT
4 K432 «EKn987 N8 7546 « D7 # 98643 N58 355 «Knl0 4K53 N 9 5 10107
vE106 vKn983 S87546 vD74 vEKNn10985 S 5 8 3 5 5 v E42 v73 S 9 5 10107
4843 +76 055897 ¢ K42 +8 074975 ¢ EK943 ¢ D10752 038236
#E54 #K8 V558897 #EKKNn92 #10 V74975 «D53 #Kn92 V38236
D106 & EKKn « ED98742
vD2 vK3 vKn10
¢ Kn1092 + EKn976 +6
#10972 *764 #K108
Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng

HO H7 4¢vDO-3 4A 800 248.0
P12 P5 5vDV-2 42 500 246.0
E9 E4 3NV-4 +3 400 244.0
R5 R14 4v O-2 A 200 2380
D8 D2 200  238.0
A9 All 4v O-2 ¢A 200 2380
K9 K7 4¥yDV-1 42 200 238.0
010 O1 4vyDV-1 +5 200 2380
EL E3 4vO-1 +A 100 170.0

Pl 44DO-1 &T 200 247.0
L2 44DO-1 vQ 200 247.0
M14 3¢ N= A 110 229.0
N4 2¢ N+1 «A 110 229.0
O5 1&#N+2 47 110 229.0
P4 2¢ N+1 &7 110 229.0
Cll 3¢ N= oA 110 229.0
D2 110 229.0
F2 1¢ N+2 5 110 229.0

B3 B19 5¢DV-4 46 800 248.0
K9 K7 4¢vDN= &K 790 245.0
M18 M11 4vyDN= ¢5 790 245.0
D5 D6 730 242.0
D3 D10 680  239.0
T3 T10 44 S+2 ¢A 680 239.0
M1 M4 4v N+1 &2 650 229.0
F5 F6 4v N+1 ¢3 650 229.0
G6 G2 44 S+1 ¢A 650 229.0

O3 1#N+2 &7 110 229.0 Gl G3 4v V-1 +3 100 170.0 A8 Al 4v N+1 ¢5 650 229.0
All 3&S-= 2 110 229.0 A2 A5 4v O-1 ¢A 100 170.0 H9 H7 5v N= 2 650 229.0
F7 2¢ N+1 A 110 229.0 J2 J1 4¢v O-1 A 100 170.0 L12 L3 4y N+1 +Q 650 229.0
R8 3¢ N= v9 110 229.0 K2 K1 4v O-1 A 100 170.0 R14 R6 4v S+1 ¢K 650 229.0
K5 14 N+2 v8 110 229.0 A3 A4 4v O-1 A 100 170.0 R18 R2 4y N+1 ¢2 650 229.0

R10 14 N+2 ¢6 110 229.0 D3 D10 100 170.0 Gl G3 4vy N= +Q 620 201.0
R1 2¢ N+1 6 110 229.0 H3 H10 4v O - +3 100 170.0 Ql Q3 4vy N= +5 620 201.0
B4 24 N+1 47 110 229.0 P3 P10 3v V- +5 100 170.0 B2 B17 4v N= +2 620 201.0

B10 2#N+1 6 110 229.0 Q3 Q15 - «K 100 170.0 N2 N1 44 S= +A 620 201.0

B16 44 O-1 +J 100 204.0 S3 S4 - +T 100 170.0 N3 N10 4v N= 7 620 201.0
H1l 44 O-1 T 100 204.0 M4 M16 - +8 100 170.0 C4 C15 4v S= ¢A 620 201.0
110 44 O-1 +2 100 204.0 04 O7 - «K 100 170.0 R5 R1 44 S= +A 620 201.0
S4 4e4 V-1 +K 100 204.0 - +Q 100 170.0 N = +2 620 201.0

T10 34 V-1 +K 100 204.0 C5 C8 - 5 100 170.0 P6 P4 44 S= ¢A 620 201.0
H7 34 O-1 vQ 100 204.0 F5 F6 - A 100 170.0 B7 B16 44 S= +A 620 201.0
K7 44 O-1 vQ 100 204.0 G5 G4 - +3 100 170.0 C7 C2 44 S= +A 620 201.0
E8 34 O-1 T 100 204.0 Q5 Q8 - 42 100 170.0 E7 E8 44 S= ¢+A 620 201.0
R3 44 O-1 +J 100 204.0 T5 T6 +5 100 170.0 P8 P11 44 S= &3 620 201.0

B17 2 49 90 191.0 Cé C1 - 42 100 170.0 T8 T2 4vy N= v3 620 201.0

N1l 2¢ vJ 90 191.0 K6 K4 - 42 100 170.0 Al10 Al2 4v N= +3 620 201.0
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S=
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+1 3 90 191.0 - ¢+2 100 170.0 M10 M12 A4v 620 201.0

Cl10 1¢ N+1 «A 90 191.0 S6 S1 - «5 100 170.0 E12 E3 4e vA 620 2010
B20 1v N= ¢7 80 183.0 A7 A13 - A 100 170.0 N12 N5 4e ¢A 620 201.0
F6 1v N= 7 80 183.0 C7 Ci11 - +5 100 170.0 M13 M9 A4v v3 620 201.0
E4 1v N= ¢7 80 183.0 B8 B19 - ¢A 100 170.0 Q16 Q10 4v v7 620 2010
E10 1v N= «A 80 183.0 H8 H1l - #3 100 170.0 Q4 Q15 5¢ -3 46 500 179.0
L3 4¢ N-1 s A -50 165.0 18 12 - A 100 170.0 Q5 Q14 5¢DV-3 46 500 179.0
T4 3¢ N-1 *7 -50 165.0 Jg Jlii - ¢2 100 170.0 Ol O3 5¢DV-2 &6 300 176.0
C15 INN-1 3 -50 165.0 K8 K11 - 42 100 170.0 L2 L4 3vyN+2 5 200 168.0
D10 -50 165.0 08 O3 - v2 100 170.0 G5 G4 3vy N+2 7 200 168.0
M16 INN-1 *4 -50 165.0 P8 P11 - v6 100 170.0 F8 F2 34 S+2 ¢A 200 168.0
L14 INS-1 a2 -50 165.0 C9 C16 - +Q 100 170.0 J8 J11 24 S+3 ¢K 200 168.0
Q8 INN-1 a4 -50 165.0 F9 F7 - A 100 170.0 H12 H5 2¢v S+3 ¢K 200 168.0
E7 1v N-1 *7 -50 165.0 J9 J7 - A 100 170.0 R12 R15 4¢ V-4 46 200 168.0
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INN-1 a7 -50 165.0 83.0| M9 M1l 4v V-1 4T 100 170.0 78.0(L14 L6 3vN+2 45 200 168.0 80.0
INN-1 48 -50 165.0 83.0| O9 02 4v V-1 +5 100 170.0 78.0( Bl B15 34 N+1 ¢A 170 139.0 109.0
3¢ N-1 *7 -50 165.0 83.0| P9 P7 4v V-1 +Q 100 170.0 780 L1 L9 3vS+1 ¢A 170 139.0 109.0
INS-1 43 -50 165.0 83.0| T9 T7 4v V-1 +5 100 170.0 78.0( T1 T4 2¢v N+2 2 170 139.0 109.0
4¢ N-1 v3 -50 165.0 83.0|El1l E2 4v V-1 +5 100 170.0 78.0| K2 K1 3vyN+1 5 170 139.0 109.0
4¢ N-1 s A -50 165.0 83.0|R11 R15 4v O-1 A 100 170.0 78.0( P3 P10 24 S+2 ¢A 170 139.0 109.0
4% N -2 A -100 137.0 111.0 ([B12 B15 4v O-1 4A 100 170.0 78.0( S3 S4 2¢v N+2 T 170 139.0 109.0
INN-2 7 -100 137.0 111.0(C1l2 C2 4v O-1 4A 100 170.0 78.0( A4 A5 24 S+2 ¢K 170 139.0 109.0
3¢ N-2 A -100 137.0 111.0 (E12 E8 4v V-1 +5 100 170.0 78.0( B4 B21 2y N+2 2 170 139.0 109.0
lv N-2 ¢7 -100 137.0 111.0 (H12 H5 4v V-1 42 100 170.0 78.0| S5 S2 34 S+1 ¢A 170 139.0 109.0
lv N-2 49 -100 137.0 111.0(J12 J5 4y V-1 +5 100 170.0 78.0| T5 T6 34 S+1 ¢K 170 139.0 109.0
3¢ N-2 A -100 137.0 111.0(L12 L8 4v V-1 +5 100 170.0 780| C6 C9 34 S+1 ¢A 170 139.0 109.0
4¢ N-2 K -100 137.0 111.0 (M12 M8 4v V-1 +3 100 170.0 78.0( M6 M16 34 S+1 ¢A 170 139.0 109.0
2N S -2 42 -100 137.0 111.0 [N12 N5 4v V-1 ¢+Q 100 170.0 78.0| Q7 Q2 34 S+1 ¢A 170 139.0 109.0
4¢ N-2 v6 -100 137.0 111.0|C13 C10 4v O-1 A 100 170.0 78.0| C8 Cl12 24 S+2 42 170 139.0 109.0
4¢ S-2 «A -100 137.0 111.0 (L13 L10 4v V-1 3 100 170.0 78.0| K8 K11 34 S+1 ¢A 170 139.0 109.0
44 S -2 2 -100 137.0 111.0 (M13 M7 4v V-1 4A 100 170.0 78.0| S8 S7 2v S+2 ¢K 170 139.0 109.0
4¢ S-2 +3 -100 137.0 111.0 [R13 R10 4v O-1 ¢A 100 170.0 78.0( B9 B20 2v S+2 ¢A 170 139.0 109.0
2N S -2 42 -100 137.0 111.0 (Al4 A10 4v V-1 +5 100 170.0 78.0( O9 O4 34 S+1 ¢K 170 139.0 109.0
4#DN-1 7 -100 137.0 111.0|B14 B6 INV-1 4T 100 170.0 78.0( P9 P7 34 S+1 4J 170 139.0 109.0
34 O= ¢+J -140 72.0176.0(C1l4 C4 4v O-1 ¢+A 100 170.0 78.0 (Al4 A1l 2v S+2 ¢A 170 139.0 109.0
34 O= T -140 72.0176.0 Q14 Q4 4v O-1 A 100 170.0 78.0(R17 R7 2v S+2 &3 170 139.0 109.0
24 O+1 vQ -140 72.0176.0(R16 R3 4v O-1 +6 100 170.0 78.0(B23 B5 2y N+2 5 170 139.0 109.0
24 O+1 ¢J -140 72.0176.0 (M17 M3 4v V-1 T 100 170.0 78.0( 11 14 5¢ V-3 6 150 111.0 137.0
24 O+1 v2 -140 72.0176.0(R17 R6 4v O-1 4A 100 170.0 78.0( J6 J4 4¢ V-3 46 150 111.0 137.0
34 O= +J -140 72.0 176.0 (M18 M10 4v O-1 oA 100 170.0 78.0( R8 R3 4¢ V-3 46 150 111.0 137.0
34 O= ¢J -140 72.0176.0(B22 B4 4v V-1 +3 100 170.0 78.0(E10 E5 4¢ V-3 6 150 111.0 137.0
34 O= ¢J -140 72.0 176.0 (B23 B10 3v O-1 A 100 170.0 78.0 (K12 K5 5¢ V-3 46 150 111.0 137.0
24 O+1 ¢J -140 7201760 O6 O5 2v V= v2 -110 105.0 143.0|R16 R4 5¢ V-3 46 150 111.0 137.0
34 O= ¢2 -140 72.0176.0( D9 D7 -110 105.0 143.0| H3 H10 3v N= +2 140 87.0 161.0
3a V= ¢A -140 72.0176.0| 11 14 2NV= #3 -120 102.0 146.0| I3 110 34 S= ¢A 140 87.0 161.0
34 O= T -140 72.0176.0( Bl B16 3v O = aA -140 78.0170.0( 15 16 2¢v N+1 +2 140 87.0 161.0
34 O= vQ -140 72.0176.0| D1 D4 . -140 78.0 170.0| O5 O8 34 S= ¢A 140 87.0 161.0
34 O= ¢J -140 7201760 F1 F4 3v O= 4A -140 78.0170.0| S6 S1 34 S= ¢+ K 140 87.0 161.0
34 O= v2 -140 720176.0| L1 L3 2vO+1 &K -140 78.01700( L7 L8 24 S+1 ¢A 140 87.0 161.0
. -140 72.0 176.0| B3 B20 2vy O+1 #A -140 78.0170.0| B8 B18 24 S+1 +¢A 140 87.0 161.0
34 O= ¢+J -140 72.0176.0| C3 C15 3v V= 5 -140 78.0170.0( H8 H1l1 2v N+1 5 140 87.0 161.0
34 O= &7 -140 72.0176.0( 13 110 2v O+1 +6 -140 78.0 170.0| Q8 Q12 34 S= +A 140 87.0 161.0
34 O= v2 -140 72.0 176.0| N3 N10 3v V= 5 -140 78.01700| F9 F7 34 S= ¢A 140 87.0 161.0
34 O= ¢J -140 72.0176.0( T3 T10 2v V+1 3 -140 78.0170.0| J9 J7 24 S+1 ¢A 140 87.0 161.0
34 O= ¢+2 -140 72.0 176.0( D5 D6 . -140 78.0 170.0| N9 N7 34 S= +A 140 87.0 161.0
3e V= ¢A -140 7201760 S5 S2 2¢O+1 &4A -140 78.0 170.0(010 O2 34 S= ¢+A 140 87.0 161.0
34 O= ¢J -140 7201760 E6 E7 3v V= +5 -140 78.0 170.0(R10 R9 3v N= +5 140 87.0 161.0
34 O= vQ -140 7201760| H6 H4 2¢vV+1 3 -140 78.0170.0(J12 J5 34 S= +A 140 87.0 161.0
24 O+1 vQ -140 72.0176.0( M6 M14 3v O= 42 -140 78.0170.0(P12 P5 2¢vy N+1 v3 140 87.0 161.0
30 V= ¢K -140 72.0176.0f N6 N4 2v V+l v2 -140 78.0 170.0|C13 C11 34 S= ¢A 140 87.0 161.0
24 O+1 ¢9 -140 72.0176.0| P6 P4 2vV+1 3 -140 78.0 170.0|L13 L11 34 S= ¢+A 140 87.0 161.0
34 O= ¢+J -140 7201760 Q6 Ql 3v V= 3 -140 78.0170.0( E1 E9 5¢ V-2 46 100 60.0 188.0
24 V+1 ¢A -140 72.0176.0( B7 B17 3v O= aA -140 78.0170.0( F1 F4 4¢ O-2 +6 100 60.0 188.0
384 V= ¢A -140 7201760 R7 R2 3v V= +3 -140 78.0 170.0( F3 F10 4¢ V-2 vK 100 60.0 188.0
34 O= ¢+J -140 72.01760| F8 F2 3v V= +3 -140 78.0 170.0| B6 B13 4¢ V-2 46 100 60.0 188.0
. -140 72.0 176.0| S8 S7 3v V= +3 -140 78.0170.0| K6 K4 4¢ V-2 vK 100 60.0 188.0
24 O+1 ¢2 -140 72.0176.0( B9 B21 2v O+1 «4A -140 78.0 170.0| O7 06 4¢ V-2 vK 100 60.0 188.0
24 O+1 ¢J -140 72.0176.0 |E13 E10 2v V+1 45 -140 78.0170.0| 19 17 4¢ O-2 vJ 100 60.0 188.0
34 O= ¢J -140 72.0176.0( N8 N11 INV+2 T -150 54.0 194.0|B14 B12 44 O-2 46 100 60.0 188.0
34 O= ¢J -140 72.0176.0( M5 M15 2v O+2 4A -170 44.0 204.0|E14 E6 4¢ V-2 46 100 60.0 188.0
34 O= ¢+J -140 72.0176.0( J6 J4 3v O+1 &4A -170 440 2040| M3 M2 3¢ V-1 46 50 47.0 201.0
3e V= ¢A -140 72.0176.0( T8 T2 2vV+2 &3 -170 44.0204.0| 18 12 4¢ V-1 «A 50 47.0 201.0
24 V+1 ¢K -140 7201760 L9 L4 2vV+2 #3 -170 44.0 204.0|E13 E11 3¢ O-1 aA 50 47.0 201.0
34 O= ¢J -140 72.0176.0( N9 N7 2v O+2 &A -170 44.0 204.0|R13 R11 3¢ V-1 46 50 47.0 201.0
34 O= ¢J -140 7201760 R9 R8 3v O+l &A -170 44.02040| C1 C3 54 S-1 ¢A -100 29.0 219.0
24 O+1 T -140 720176.0|L11 L2 2¢ O+2 «A -170 44.0 204.0| D1 D4 -100 29.0 219.0
34 O= vQ -140 72.0176.0|K12 K5 2v O+2 A -170 44.02040( A2 A7 4v N-1 «J -100 29.0 219.0
24 O+1 ¢J -140 72.0176.0(B13 B11 2v O+2 &7 -170 44.02040| E2 E4 4y N-1 43 -100 29.0 219.0
24 O+1 vQ -140 7201760 T1 T4 4¢ S-2 #A -200 32.0216.0( N6 N4 4y N-1 43 -100 29.0 219.0
34 O= T -140 72.0176.0| B2 B18 2v V+3 &3 -200 32.0 216.0| M7 M15 4v N-1 5 -100 29.0 219.0
34 O= ¢+Q -140 72.0176.0| Q7 Q11 3NS-2 #K -200 32.0 216.0( D8 D2 -100 29.0 219.0
34 O= +J -140 72.0176.0( N2 N1 2v S-4 #A -400 28.0 220.0 N8 N11 44 S-1 ¢+A -100 29.0 219.0
34 O= ¢+J -140 7201760 Al A6 4v V= #3 -620 15.0233.0( T9 T7 4v N-1 v7 -100 29.0 219.0
34 O= v3 -140 72.0176.0| H2 H1l 4v O= 4A -620 15.0 233.0 (B10 B22 44 S-1 ¢+K -100 29.0 219.0
24 O+1 +9 -140 72.0176.0| M2 M1l 4v V= v2 -620 15.0 233.0|L10 L5 4v N-1 +5 -100 29.0 219.0
3NS-3 2 -150 15.0233.0( P2 Pl 4v V= 42 -620 15.0 233.0 (A13 A9 3v N-1 v7 -100 29.0 219.0
5¢ N-3 oA -150 15.0 233.0| F3 F10 4v V= 5 -620 15.0 233.0 ([M14 M8 44 S-1 ¢A -100 29.0 219.0
3NS-3 2 -150 15.0 233.0( E5 E14 4v V= v6 -620 15.0 233.0|C16 C10 4v N-1 v7 -100 29.0 219.0
4¢ N-3 oA -150 15.0233.0( I5 16 4v V= 42 -620 15.0233.0( P2 Pl 3¢ V= 46 -110 14.0 234.0
4¢ N-3 oA -150 15.0 233.0( L5 L14 4v O= oK -620 15.0 233.0( H2 H1 5v N-2 ¢+2 -200 7.0 241.0
4¢ N-3 oA -150 15.0233.0( G6 G2 4y V= v6 -620 15.0233.0| J2 J1 3NN-2 +5 -200 7.0 241.0
-200 6.0 2420 Q9 Q16 4v V= v6 -620 15.0 233.0| C5 C14 54 S-2 ¢+A -200 7.0 241.0
4v S -4 «A -200 6.0 242.0 [A1l2 A8 4v O= 4A -620 15.0 233.0( M5 M17 54DS-1 vA -200 7.0 241.0
4y N -4 7 -200 6.0 2420 (Q12 Q2 4v V= &5 -620 15.0233.0( Q6 Q9 34DS-1 ¢A -200 7.0 241.0
54DN-2 A -300 20246.0( 19 17 4vyDO= &K -790 2.0 246.0( D9 D7 -200 7.0 241.0
24DO+1 v2 -870 0.0 248.0|R18 R1 3¢DS- +5 -800 0.0 248.0| A3 A6 54DS-3 ¢K -800 0.0 248.0
99.6 J3 - 99.6 J3 - 99.6
131.2 - K10 131.2 - K10 131.2
113.3 BS - 113.3 - Q11 111.8
132.0 - Q10 132.0 - Bl1 132.7
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22 463 Basta kontrakt 23 & EKKn97 Basta kontrakt 24 4985 Basta kontrakt
Ost v DKn52 2NT O =-120 Syd v 932 5v V =-650 Vast v EK83 5v N =450
ov + Kn96 Alla +32 Ingen + KDKn72
#D876 & ¢ v & NT #975 & ¢ v & NT »5 & ¢ v o N
4 EK7  4D852 N4 4754 10 4 852 N52 276 aKn74 « ED1062 N 5 11115 7
vK107 +83 S45754 vED76 ¥Kn1085 S52276 v D6 v52 S 5 11115 7
410543 ¢ D87 O8 86 8 8 ¢+ Kn986 ¢ KD105 O 8 11116 7 ¢+ E93 ¢85 082273
#K103 #EKn92 V 8 86 8 8 #ED82 #KnlO0 vV 8 11116 7 #Kn9872 #KD103 vV82273
4 Kn1094 D643 4 K3
v E964 vK4 vKn10974
+ EK2 ¢ E74 + 1064
#54 »K643 *E64
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
Cl C3 34DO-1 vA 200 2430 50| 12 15 24 S+2 v6 170 2480 00| Q2 Q4 44DO-4 vJ 800 248.0 0.0
Ol O3 24 0-2 ¢A 200 243.0 5.0| N4 N10 34 S= 4T 140 246.0 20| K9 K8 4vDS+1 44 690 2440 4.0
14 110 3%V -2 vJ 200 2430 5.0| Bl B14 24 N= ¢K 110 224.0 24.0(C13 C12 4vyDS+1 4«J 690 2440 4.0
N7 N5 24 O-2 v6 200 2430 50| F1 F3 24 N= vJ 110 2240 240|R14 R7 4vyDS+1 44 690 2440 4.0
E14 E6 34 O-2 5 200 2430 50| C2 C4 24 N= #J 110 224.0 240( B1 B14 44DO-3 vJ 500 237.0 110
R17 R7 2¢ V-2 46 200 2430 5.0| E2 E10 24 N= v8 110 2240 240| N3 N2 44DO-3 ¥J 500 2370 11.0
C6 C9 2¢vN+1 5 140 236.0 12.0| H3 H2 24 N= ¢+K 110 2240 24.0(R12 R13 44DO-3 ¥J 500 237.0 11.0
D1 D3 110 2210 270 M4 M3 24 N= ¢K 110 224.0 24.0(B13 B12 44DO-3 ¥J 500 237.0 11.0
E2 E4 2v S= A 110 221.0 270 O6 09 24 N= ¢K 110 224.0 240(| L1 L4 4v N+2 &K 480 220.0 280
L2 L4 2vy N= 42 110 2210 270 R6 R2 24 N= ¢K 110 224.0 240| F2 F5 4vy N+2 &K 480 220.0 28.0
N3 N2 2y S= 4A 110 221.0 27.0| B8 B17 24 N= ¢T 110 2240 240| H3 H2 4vy N+2 &K 480 220.0 28.0
O5 08 2y N= ¢7 110 221.0 270| L8 L9 24 N= vJ 110 2240 240| AA A7 4vy N+2 &K 480 2200 28.0
K6 K12 2v S= aA 110 2210 270( 19 I8 24 N= v5 110 2240 24.0| K4 K10 4vy N+2 &K 480 220.0 28.0
K7 K5 2y N= 45 110 2210 270 Q9 Q1 24 N= vJ 110 2240 24.0| F6 F7 4vy N+2 &6 480 220.0 28.0
P7 P5 2v S= 4A 110 221.0 27.0|(B10 B21 24 S= ¢9 110 224.0 240 16 17 4vy N+2 &K 480 220.0 28.0
R8 R3 2y S= 4K 110 221.0 27.0(010 O3 24 S= T 110 2240 240| S6 S3 4vy N+2 45 480 220.0 28.0
B9 B20 2y N= 2 110 221.0 27.0(Bl11 B23 24 N= v5 110 2240 24.0| T6 T7 4vy N+2 v5 480 220.0 28.0
L10 L5 2v N= v8 110 221.0 27.0|R12 R13 24 N= #J 110 224.0 240 J7 J5 4vy N+2 &K 480 220.0 28.0
010 02 2v S= A 110 221.0 27.0(B15 B7 24 S= vA 110 2240 24.0| N7 N5 4vy N+2 &K 480 220.0 28.0
L12 L3 2v N= ¢7 110 2210 27.0(R15 R1 24 N= ¢K 110 2240 240 Q9 Q1 4v N+2 &K 480 220.0 28.0
C13 C11 2y N= #A 110 221.0 27.0(R17 R8 24 N= ¢5 110 224.0 240(R18 R3 4vy N+2 ¢8 480 220.0 280
P1 P11 24 O-1 «J 100 198.0 50.0 (M18 M12 24 N = ¢5 110 224.0 24.0( J1 J11 4v S+1 «4 450 177.0 71.0
B2 B17 34 O-1 vA 100 198.0 50.0|R18 R3 24 N= ) 110 2240 240| O1 O5 4vy S+1 #4 450 177.0 71.0
Q4 Q15 34 O-1 ¢A 100 198.0 500 E3 E5 2NV-1 4Q 100 202.0 46.0( E2 E10 4v S+1 ¢J 450 177.0 71.0
C5 C14 1INV-1 v2 100 1980 50.0| L1 L4 1s S= ¢9 80 200.0 48.0( M2 M5 4y S+1 &7 450 177.0 71.0
D6 D7 . 100 198.0 50.0( J3 J2 INV= a7 -90 197.0 51.0| O2 0O4 4y S+1 44 450 177.0 71.0
F6 F7 34 O-1 ¢A 100 198.0 50.0( D9 D8 -90 1970 51.0| E3 E5 4vy S+1 &4J 450 177.0 71.0
C7 C2 24 0-1 J 100 198.0 50.0( Al A10 24 N-1 ¢K -100 141.0 1070 Q3 Q8 4v N+1 &A 450 177.0 71.0
FO F8 34 O-1 ¢A 100 198.0 50.0( D1 D3 -100 141.0 107.0| H4 H10 4y S+1 &7 450 177.0 71.0
E10 E5 24 O-1 ¢A 100 198.0 500 E1 E4 44 S-1 vA -100 141.0 107.0| S4 S5 4vyS+1 A 450 177.0 71.0
12 I5 INS= v7 90 187.0 61.0| G1 G5 24 S-1 +9 -100 141.0 107.0( D6 D7 450 177.0 71.0
M10 M12 INS= #3 90 187.0 61.0( N1 N11 24 N-1 «J -100 141.0 107.0| J6 J12 4v S+1 #J 450 177.0 71.0
B7 B16 Pass 1840 64.0| O1 O5 24 N-1 ¢K -100 141.0 107.0| N6 N12 4v S+1 #J 450 177.0 71.0
Bl B15 2v N-1 48 -50 144.0 104.0| P1 P11 34 N-1 ¢K -100 141.0 107.0| K7 K5 4v S+1 «4 450 177.0 71.0
H1 H11 2v S-1 LY -50 144.0 104.0| T1 T3 INN-1 ¢K -100 141.0 107.0| P7 P5 4vy S+1 «J 450 177.0 71.0
11 13 2¢S-1 s A -50 144.0 104.0| F2 F5 24 S-1 +8 -100 141.0 107.0( E8 E9 4v S+1 4J 450 177.0 710
K1 K11 2¢ S-1 s A -50 144.0 104.0| G2 G4 24 N-1 42 -100 141.0 107.0| L8 L9 4vy N+1 &A 450 177.0 71.0
M1 M4 2v N-1 45 -50 144.0 104.0| L2 L10 24 N-1 +K -100 141.0 107.0| M8 M16 5v S= 4J 450 177.0 71.0
Ql Q3 2vS-1 s K -50 144.0 104.0| M2 M5 24 N-1 vJ -100 141.0 107.0| O8 O7 4v S+1 &4J 450 177.0 71.0
Tl T3 2¢S-1 s K -50 144.0 104.0| 02 0O4 24 N-1 ¢K -100 141.0 107.0| S8 S1 4v N+1 &K 450 177.0 71.0
A2 A7 2vS-1 s A -50 144.0 104.0| A3 A8 34 S-1 ¢8 -100 141.0 107.0| A9 A2 4v S+1 «4 450 177.0 71.0
D2 D5 -50 144.0 104.0| B3 B18 24 S-1 v6 -100 141.0 107.0| B9 B19 5v S= a4 450 177.0 71.0
F2 F5 INS-1 +3 -50 144.0 104.0| N3 N2 24 N-1 42 -100 141.0 1070 C9 C1 4v S+1 «J 450 177.0 71.0
G2 G4 2vS-1 LY -50 144.0 104.0| P3 P2 24 N-1 ¢K -100 141.0 107.0( H9 H8 4v S+1 «4 450 177.0 71.0
H3 H2 2v N-1 *A -50 144.0 104.0| A4 A7 24 N-1 ¢K -100 141.0 1070 J9 J8 4v S+1 #J 450 177.0 71.0
M3 M2 2v S-1 s A -50 144.0 104.0| B4 B20 24 N-1 ¢K -100 141.0 1070 T9 T8 4v S+1 «4 450 177.0 71.0
B4 B21 2y N-1 *7 -50 144.0 104.0| D4 D10 -100 141.0 107.0|010 O3 4y S+1 44 450 177.0 71.0
C4 C15 2v N-1 a5 -50 144.0 104.0| F4 F10 24 N-1 #J -100 141.0 107.0(L11 L6 4v S+1 &J 450 177.0 710
K4 K10 3¢ S-1 s A -50 144.0 104.0| H4 H10 24 N-1 «J -100 141.0 107.0 [Al4 Al12 4v S+1 «4 450 177.0 71.0
R5 R1 2vS-1 LY -50 144.0 104.0| 14 110 34 N-1 vJ -100 141.0 107.0|M15 M9 4y S+1 &J 450 177.0 71.0
M6 M16 2v N -1 +Q -50 144.0 104.0| P4 P10 24 N-1 ¢K -100 141.0 107.0 (M18 M12 4y N+1 &A 450 177.0 710
N6 N12 1v S-1 s A -50 144.0 104.0| S4 S5 24 S-1 T -100 141.0 1070 C2 C4 4v S= a4 420 144.0 104.0
P6 P12 2v S-1 s A -50 144.0 104.0| C6 C14 24 N-1 «J -100 141.0 107.0| P4 P10 4v S= 9 420 144.0 104.0
S6 S3 2vS-1 s K -50 144.0 104.0| D6 D7 -100 141.0 107.0 (B15 B7 4y N= 4J 420 144.0 104.0
T6 T7 2¢v S-1 LY -50 144.0 104.0| F6 F7 24 S-1 +9 -100 141.0 107.0( P1 P11 44DO-2 ¥J 300 138.0 110.0
H7 H5 2v S-1 s K -50 144.0 104.0| G6 G3 34 N-1 vJ -100 141.0 107.0| T2 T5 44DO-2 ¥J 300 138.0 110.0
Q7 Q2 INS-1 *4 -50 144.0 104.0| 16 17 24 N-1 ¢+K -100 141.0 107.0( M4 M3 44DO-2 vJ 300 138.0 110.0
A8 Al 2v S-1 s A -50 144.0 104.0| J6 J12 24 N-1 «J -100 141.0 1070 E1 E4 3v N+3 &K 230 132.0 116.0
B8 B18 2v S-1 LY -50 144.0 104.0| K6 K12 24 S-1 8 -100 141.0 107.0| H1 H11 3v N+3 ¢8 230 132.0 116.0
H9 H8 2v S-1 s A -50 144.0 104.0| M6 M1 34 N-1 vJ -100 1410 107.0| 19 18 2¢v S+4 ¢A 230 132.0 116.0
19 18 2¢v N-1 *A -50 144.0 104.0| N6 N12 24 N-1 vJ -100 141.0 107.0| 12 15 2v S+3 #2 200 112.0 136.0
N9 N8 2v S-1 LY -50 144.0 104.0| C7 C10 24 N-1 vJ -100 141.0 107.0| B3 B18 3v S+2 &4 200 112.0 136.0
T9 T8 2vy N-1 a2 -50 144.0 104.0 | M7 M17 24 N-1 #J -100 141.0 107.0( J3 J2 3v S+2 44 200 112.0 136.0
Al10 Al12 2v S-1 +3 -50 144.0 104.0| N7 N5 24 N-1 +K -100 141.0 107.0 | D4 D10 200 112.0 136.0
B10 B22 3v S-1 &K -50 144.0 104.0| Q7 Q10 24 N-1 vJ -100 141.0 107.0| F4 F10 3v S+2 &4 200 112.0 136.0
E12 E3 2v S-1 s A -50 144.0 104.0| C9 C1 34 N-1 ¢+K -100 141.0 107.0( 4 110 3v S+2 «J 200 112.0 136.0
Al13 A9 2v S-1 +Q -50 144.0 104.0| F9 F8 24 N-1 ¢Q -100 141.0 107.0| R5 R16 3vy N+2 &A 200 112.0 136.0
E13 E11 2v S-1 &K -50 144.0 104.0| H9 H8 44 S-1 vA -100 141.0 107.0| O6 09 3v S+2 ¢A 200 112.0 136.0
B14 B12 2v S-1 s A -50 144.0 104.0| J9 J8 24 N-1 ¢K -100 141.0 1070 R6 R2 2v S+3 44 200 112.0 136.0
R14 R6 2v N-1 v8 -50 144.0 104.0| K9 K8 24 N-1 ¢K -100 141.0 107.0| C7 C10 3v S+2 &2 200 112.0 136.0
C16 C10 3y N-1 *A -50 144.0 104.0 |C11 C16 34 N-1 v8 -100 141.0 107.0| M7 M17 3v S+2 &4 200 112.0 136.0
M18 M1l 2v S-1 s A -50 144.0 104.0 |E11 E6 44 N-1 T -100 141.0107.0 Q7 Q10 3v S+2 44 200 112.0 136.0
Jl J11 24 0= ] -90 100.0 148.0 |Q11 Q16 34 S-1 ¢6 -100 141.0 1070 R9 R4 3v S+2 4J 200 112.0 136.0
N1 N11 INV= v2 -90 100.0 148.0 |R11 R10 34 N-1 vJ -100 141.0 107.0 |R11 R10 44 O -4 v4 200 112.0 136.0
D4 D10 -90 100.0 148.0 |B13 B12 24 S-1 «J -100 141.0 107.0(C15 C5 3v N+2 &4A 200 112.0 136.0
R13 R11 INV= v2 -90 100.0 148.0 |C13 C12 24 N-1 «J -100 141.0 107.0(R15 R1 3v S+2 #J 200 112.0 136.0
M14 M8 2& O = *A -90 100.0 148.0 |E14 E7 34 N-1 vJ -100 141.0 107.0|B16 B2 3v N+2 &4A 200 112.0 136.0
F1 F3 2v N-2 5 -100 82.0166.0 (R14 R7 24 N-1 ¢5 -100 141.0 107.0( D1 D3 150 86.0 162.0
Gl G5 INN-2 #2 -100 82.0 166.0 |C15 C5 24 N-1 #J -100 141.0107.0| G1 G5 4¢ N+1 &K 150 86.0 162.0
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vA -140 23.0 2250 B9 B19 3a #J -200 43.0 205.0| B4 B20 1e *A -80  30.0 218.0

42 -100 82.0166.0(Q15 Q5 34 S-1 4T -100 141.0 107.0| 11 I3 44V-3 vA 150  86.0 162.0
4A -100 820166.0(B16 B2 34 N-1 vT -100 141.0 107.0| T1 T3 3¢ N+2 &K 150  86.0 162.0
4A -100 8201660| 11 I3 3¢ O= v4 -110 86.0162.0| D2 D5 150  86.0 162.0
4A -100 8201660| 08 O7 3¢ V+1 4A -130 840 1640| P3 P2 3¢ N+2 4A 150  86.0 162.0
42 -100 820 166.0| D2 D5 -140 81.0 167.0| A5 A6 44 O-3 vJ 150  86.0 162.0
a5 -100 82.0166.0| T4 T10 3v V= «A -140 810167.0| FO F8 4¢ N+1 &K 150  86.0 162.0
aA -100 820 166.0 [All A13 3¢ O+2 43 -150 76.0 172.0|(C11 C16 4¢ N+1 +8 150  86.0 162.0
aA -100 820 166.0|L11 L6 4¢ O+1 44 -150 76.0172.0| D9 D8 140 76.0 172.0
4A -100 820 166.0 |Al4 A12 3¢ V+2 «A -150 76.0172.0| F1 F3 24 O-2 #A 100  66.0 182.0
aA -100 8201660| T2 T5 3v O+l 44 -170 700 178.0| N1 N11 34 O-2 +J 100  66.0 182.0
aA -100 820166.0(L13 L12 2v O+2 43 -170 700 178.0| G2 G4 44 O-2 ¢4 100  66.0 182.0
A -110 55.0193.0(L14 L7 2¢vV+2 4K -170 700 178.0| K6 K12 34 O-2 +J 100  66.0 182.0
v4 -110 55.0193.0| J1 J11 34 N-2 &J -200 43.02050| Q6 Q14 34 ®-2 vJ 100  66.0 182.0
A -110 55.0193.0| K1 K11 34 S-2 T -200 43.0 2050 |MI11 M13 34DO-1 %J 100  66.0 182.0
A -110 5501930| Q2 Q4 34 N-2 vJ -200 43.02050|L14 L7 34 O-2 T 100  66.0 182.0
v4 -110 55.01930| [3 L[5 34 N-2 K -200 43.02050[Q15 Q5 24 ®-2 +J 100  66.0 182.0
A -110 55.0193.0| K4 K10 34 S-2 8 -200 43.02050|R17 R8 440-2 +J 100  66.0 182.0
A -110 550 193.0| A5 A6 34 N-2 ¢K -200 43.02050| L2 L10 34 O-1 ¢4 50 450 203.0
vA -110 550 1930| R5 R16 24 N-2 ¢K -200 43.02050| L3 L5 34 ®-1 T 50 450 203.0
A -110 55.0193.0| H6 H12 3a N-2 45 -200 43.02050| G6 G3 34 O-1 *J 50 450 203.0
-110 55.0 193.0| P6 P12 34 S-2 +J -200 43.02050| P6 P12 34 O-1 ¢4 50 450 203.0
A -110 5501930| S6 S3 2v O+3 ¢A -200 43.02050| S7 S2 34 O-1 +T 50 450 203.0
a5 -110 5501930| J7 J5 3¢ N-2 K -200 43.02050| B8 B17 24 O-1 ¢4 50 450 203.0
A -110 550 193.0| K7 K5 34 N-2 vJ -200 43.02050| C8 C3 24 O-1 ¢4 50 450 203.0
A -110 5501930 P7 P5 24 N-2 #J -200 43.0 2050|B10 B21 34 O-1 +T 50 450 203.0
v2 -120 38.02100| S7 S2 3a N-2 K -200 4302050 |E11l E6 34 O-1 T 50 450 203.0
46 -120 38.02100| C8 C3 34 N-2 ¢K -200 430 205.0|Q11 Q16 34 O-1 T 50  45.0 203.0
46 -120 38.02100| E8 E9 34 N-2 ¢K -200 43.02050|L13 [12 34 O-1 +T 50 450 203.0
A  -140 23.02250| M8 M16 34 S-2 T -200 43.02050|E14 E7 3¢ O-1 *J 50 450 203.0
a5 140 23.02250| A9 A2 34 N-2 v8 -200 43.02050| T4 T10 4vS-1 3  -50 32.0 216.0
N -2
N -2
N -2
N -2
S-2
o
N
N
s
Vv
o}

U 0:0:0:0:0:0:0:0:0:0:0:0:0:©9 O O0:0:0:0: 0:0:O: 0: 0: O: O: 0: 0: O0: O:© O: O: O:0: O

¢A 140 23.0 2250| R9 R4 34 N - vJ -200 43.02050| H7 H5 4¢DN-1 #Q -100 28.0 220.0
¢K -140 23.02250| T9 T8 3& N- ¢K 200 43.0205.0| K1 K11 24 O= ¢6 -110 16.0 232.0
¢A 140 23.0 225.0 |M11 M13 34 N - vJ -200 43.02050| A3 A8 24 O= ¢4 -110 16.0 232.0
¢A  -140 23.0 225.0 |E13 E12 44 S- 42 200 43.0 2050| N4 N10 24 O= ¢K -110 16.0 232.0
a5 -140 23.0 225.0 |M14 M10 3v O+2 4Q -200 43.02050| B5 B22 24 O= T -110 16.0 232.0
¢A 140 23.0 2250| B5 B22 44 N-3 #T -300 16.0 232.0| C6 C14 24 O= T -110 16.0 232.0
¢A 140 23.0 2250| Q6 Q14 24 N-3 #J -300 16.0 232.0| H6 H12 24 O= vJ -110 16.0 232.0
¢A 140 23.02250| P9 P8 44 S-3 T -300 16.02320| M6 M1 24 O= vJ -110 16.0 232.0
¢A 140 23.02250| HL1 H11 4v V=  &A 620 12.0236.0| P9 P8 24 O= T -110 16.0 232.0
aA -150 7.02410| Q3 Q8 4v O+1 43 -650 7.0 241.0 |A1l A13 24 O= ¢4 -110 16.0 232.0
aA 150 7.02410| H7 H5 4v O+1 43 650 7.0 241.0|B11 B23 24 O= ¢4 -110 16.0 232.0
42 150 7.0241.0| S8 S1 4vV+l 4A 650 7.0 241.0 |E13 E12 24 O= T -110 16.0 232.0
aA 150 7.0 241.0|M15 M9 4y V+1 4A 650 7.0 241.0| Al A10 34 O= #A -140 3.0 245.0
YA -730 2.0246.0| T6 T7 44DS-3 6 -800 1.0 247.0|M14 M10 24 O+1 T -140 3.0 245.0
1 ¢K 870 0.0248.0| N9 N8 44DS-3 vA -800 1.02470| N9 N8 5¢DN-2 &K -300 0.0 248.0
89.3| - K2 89.3| - K2 89.3
102.2 Ja - 102.2 - 102.2
111.8| - Q12 1251| - Q12 125.1
132.7| - B6 105.6| - B6 105.6
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